UGC NET 2022 MUSEOLOGY N CONSERVATION

Topic:- 066_SEPT22_S1_PartA

1) The American Alliance of Museums (AAM) was formerly known as

{5 e wey o e (T Um) F 9o e Tm s S S ?

[Question ID = 506][Question Description = 101_66_Museology_SEPT22_Q01]
1. American Museums Association

[Option ID = 2021]
2. American Association of Museums

[Option ID = 2022]
3. Museum Association of America

[Option ID = 2023]
4. Association of American Museums

[Option ID = 2024]

2) The alternate museum definition to be included in the ICOM Statutes was placed for approval
at ICOM's Extraordinary General Assemblyv in 20189 m

ard 3t (i) wRERa § s R # T e 6 dniee v = Beterae § 8
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[Question ID = 507][Question Description = 102_66_Museology_SEPT22_Q02]

1. Paris

.

[Option ID = 2025]
2. Japan

[Option ID = 2026]
3. Italy

i

[Option ID = 2027]
4. United Kingdom

o —
[Option ID = 2028]
3) Markham and Hargreaves carried out their first survey in 1936 in India on

arEn it saley 3 oo F 99w F ug F 1936 § w79 vmen w3gy e

[Question ID = 508][Question Description = 103_66_Museology_SEPT22_QO03]
1. Archaeological Sites



RUEE:

-

[Option ID = 2029]
2. Anthropelogy

o e

[Option ID = 2030]
3. Historical Buildings

Ufsate wa

[Option ID = 2031]

4. Museums
[Option ID = 2032]

4) Which of the following countries introduced NAGPRA?

et 4 & o T 3 o S § amw s

[Question ID = 509][Question Description = 104_66_Museology_SEPT22_Q04]
1. UsA

1T

[Option ID = 2033]
2. UK

1%
[Option ID = 2034]
3. Australia

[Option ID = 2035]
4. Germsany

=R

[Option ID = 2036]

5) What is significant about scope of collection?
a1 % fowe oA & gy o 717 wpmge 27

[Question ID = 510][Question Description = 105_66_Museology_SEPT22_Q05]
1. Selection of chjects according to discipline

B % amgan w1 =

[Option ID = 2037]
2. Assemblage of ohjects aceording to province

TER F T g F A

[Option ID = 2038]
3. Assemblage of objects collected according to some rational scheme

Fo e A & IAL TEE G A

[Option ID = 2039]
4. Purchase of objects from an authorized dealer

[Option ID = 2040]



6) Which is the most authentic method to acquire collection of Archasology?
RS 1 WAE W w A W e e g

[Question ID = 511][Question Description = 106_66_Museology_SEPT22_Q06]
1. Bequest

ES LD

[Option ID = 2041]
2. Exploration and Execavation

= 3 S

[Option ID = 2042]
3. Gft

EL

[Option ID = 2043]
4. Purchase

= i
[Option ID = 2044]

7) Among the Representative list of ICH elements of humamty from India, Nowrouz is
multinational, belonging to the following countries

e T 5 s = o S a8 S e 2 Feefem a2

[Question ID = 512][Question Description = 107_66_Museology_SEPT22_Q07]
1. Iran. Afghanistan Bangladesh

O, IAEREEE, A

[Option ID = 2045]
2. Iran, Afghamstan India and Pakistan

[Option ID = 2046]
3. Iran, India and Pakistan Sudan

[Option ID = 2047]
4. Iran Indonesia India and Maldives

[Option ID = 2048]
8) Which of the following constitutes the entire domains of Intangible Cultural Heritage defined
by UNESCO in the 2003 convention?
Frfefas @ & so-wm =d 2003 % wfawwn § ghen g TG o S fauEd & 99 g S
wEE ol
[Question ID = 513][Question Description = 108_66_Museology_SEPT22_Q08]

1. Traditional craftsmanship. Sports. Films, Performing Arts. Social practices. rituals
and festive events

e fores, Gw, Toem, sl arés, amfes w=em, uiis sem ot 399 = w9
[Option ID = 2049]

7. Performing arts. Knowledge and practices concerning nature and the universe,
Languages, Visual arts and Mimicry

R 3EH, W A wES F way § W At sgEe, W e o i



[Option ID = 2050]

Performing arts, Oral traditions and expressions, including language as a vehicle of
3. the intangible cultural hermtage. Traditional eraftemanship, Social practices, rituals

and festive events, Knowledge and practices concerning nature and the universe.

whiE e, dew s 3t sifteafe, v = gl wiegies e % o % =0 d wie
0, W fie, A e, it S A S ¥ A, YEiE 6 FEE & He

7 371 et sgeEn

[Option ID = 2051]

Performing arts. Oral traditions and expressions, including lancuage as a vehicle of
4. the mtangible cultural heritage, Culinary Arts, Traditional craftsmanship. Social

practices, rituals and festive events

T FeE, S Wy A wihsatE, W E HE S GuEd F 4 £ 59 8 e
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[Option ID = 2052]

9) Which of the following is ICOM's International Committee for Documentation?

Frfetian & § &= w1 ands 1 i g afufy 27
[Question ID = 514][Question Description = 109_66_Museology_SEPT22_Q09]
1. INSDOC

s T A

[Option ID = 2053]
2. CIDOC

#ad & a
[Option ID = 2054]
3. ICoDocC

i A o & o

[Option ID = 2055]
4. ICTOP

A ot 6

[Option ID = 2056]

10) Which of the following methods of collecting requires a transfer of custody document?
fraffas 4 2 g & fes B 4 aften % o7 3 e ) ST 7 27

[Question ID = 515][Question Description = 110_66_Museology_SEPT22_Q10]

1. Purchase

g

[Option ID = 2057]
2. (Gift

e

[Option ID = 2058]
3. Field work

g %
[Option ID = 2059]
4. 1oan

oL |

[Option ID = 2060]

11) JATANis a:



IduE (FF) 2

[Question ID = 516][Question Description = 111_66_Museology_SEPT22_Q11]
1. Disaster Management Software

g HAYS SR
[Option ID = 2061]
2. Malware Removing Software

[Option ID = 2062]
3. Museum Documentation Software

[Option ID = 2063]
4. Intangible Cultural Heritage Software

[Option ID = 2064]
12) CHIN Data Dictionaries have been used for collection mansgement systems, and to
standardize cataloguing by:

Brfifias F 2 fem e /4t g0 <9 (CHIN) = wreesidt =57 3941 5 3ae womett ot st &
wreerRT % T P
[Question ID = 517][Question Description = 112_66_Museology_SEPT22_Q12]
1. Canadian museums
[Option ID = 2065]
2. Chinese museums
= B
[Option ID = 2066]
3. Chandigarh museum
[Option ID = 2067]
4. (Chilean museums

et Zngrem

[Option ID = 2068]

13) Which of the following types of museums puts maximum emphasis on objects?
Feferfiam o & form wm 3 Swmres awaad W slaTs 5w o 27
[Question ID = 518][Question Description = 113_66_Museology_SEPT22_Q13]
1. Art Museums
N TR

[Option ID = 2069]
2. Seience Museums

[Option ID = 2070]
3. History Museums

e e



[Option ID = 2071]
4. Natural History Museums

e e EuEe
[Option ID = 2072]

14)  Fry test is used for assessing

WTE 75 % I fEe aEer % foe e w27

[Question ID = 519][Question Description = 114_66_Museology_SEPT22_Q14]
1. Legibility of the text

HEATTE & HaTaEa

[Option ID = 2073]
2. Comprehensibility of the text

qe9TE I AT

[Option ID = 2074]
3. Readability of the text

g S T

[Option ID = 2075]
4. Typography of the text

e e

[Option ID = 2076]

15) A museum exhibition receives a lot of sunlight. the musenm should not

T HIEEE eIl § deiaw g2 1 5 &, SO &5

[Question ID = 520][Question Description = 115_66_Museology_SEPT22_Q15]
1. Use filter film

Tihar THes =1 91T =] =ag

[Option ID = 2077]
2. Let sunlight fall

o & e =

[Option ID = 2078]
3. Block the light by putting curtains/blinds

TE] /A7 S W F U A

[Option ID = 2079]
4. TUse timer switch

e o =7 5am e

[Option ID = 2080]

16) A turquoise object on display can be made to-appear very blue when displayed against
fezer o W=t g Ay en = v 2, 1w St e w e
[Question ID = 521][Question Description = 116_66_Museology_SEPT22_Q16]

1. A green background

[Option ID = 2081]
2. A red backeground



[Option ID = 2082]
3. A blue background

el gei

[Option ID = 2083]
4. A yellow background

el g
[Option ID = 2084]
17) Lending of objects to schools from the museum colleetion or from the special loan collection is
commonly called
HUETEd + HOE H A T o gun © o 1 oey 96 R A e 9 A
[Question ID = 522][Question Description = 117_66_Museology_SEPT22_Q17]

1. School Loan Service

oo = wa

[Option ID = 2085]
2. 3pecial Loan Service

e

[Option ID = 2086]
3. Museum Loan Service

HIRTE SR
[Option ID = 2087]
4. Dbject Loan Service

[Option ID = 2088]

18) Jean Piaget introduced

=7 st 4 a9y A

[Question ID = 523][Question Description = 118_66_Museology_SEPT22_Q18]
1. Sensory Motor Stage Theory

[Option ID = 2089]

2. Behaviorist Learning Theory
[Option ID = 2090]

3. General Factor Theory

[Option ID = 2091]
4. Emotional Intelligence Theory

[Option ID = 2092]
19) Which of the folloiving publications is a periodical?

frafafias 49 -0 T9E S TR T R 7



[Question ID = 524][Question Description = 119_66_Museology_SEPT22_Q19]
- Leaflet

HIHAE

[Option ID = 2093]
2. Folder

"

[Option ID = 2094]
3. Bulletin

a

[Option ID = 2095]
4. Catalogue

[Option ID = 2096]

20) PMM (Personal Meaning Mapping) is developed by:

Sy (e w27 e g e e T 2

[Question ID = 525][Question Description = 120_66_Museology_SEPT22_Q20]
1. Elien Hooper-Greenhill

T gE-TEE

[Option ID = 2097]
2. John H. Falk

=H = R
[Option ID = 2098]
3. George W. Hein

[Option ID = 2099]
4. Jean Piaget

=77 faamE

[Option ID = 2100]

21) The journal ‘Studies in Conservation’ is published by

‘mrde o e W e g v o o 27

[Question ID = 526][Question Description = 121_66_Museology_SEPT22_Q21]
1. International Institute for Conservation of Historic and Artistic works

e ST B SeeaeH O Teedfee g et wed

[Option ID = 2101]
2. Getty Conservation Institute

W2 FeaaE e

[Option ID = 2102]
3. Indian Association for the study of Conservation of Cultural Property m India

[Option ID = 2103]
4. UNESCO

T



[Option ID = 2104]

22) Solar hut is used in conservation for which of the following treatment:
wh Zz %7 v Fatatag O @ feas g g g 27
[Question ID = 527][Question Description = 122_66_Museology_SEPT22_Q22]
1. Drying out sticky folios of & manuscript
gt % o gueE = gEE
[Option ID = 2105]
2. Maintaining stable climatic conditions in showeases

wiEE § S F R i s

[Option ID = 2106]
3. Quarantining incoming exhibits

AT FeE = e
[Option ID = 2107]

4. For getting rid of bio-deteriogens
Sa-aTHEH | geEE T % e

[Option ID = 2108]

23) Which of the following substances is added to silica gel to make it blue in colour?
Faferr St et T o7 = & Tor el Pt F 2 Fa-m vl firer = 27

[Question ID = 528][Question Description = 123_66_Museology_SEPT22_Q23]
1. Tin

A

[Option ID = 2109]
2. Magnesium

Ariferan

[Option ID = 2110]
3. Cobalt

-

FATC

[Option ID = 2111]
4. Sodium

aifem

[Option ID = 2112]

24) Recommended illumination level for coloured textile is
Tfz 503 % form wefim =0 1 amteg =0T 27
[Question ID = 529][Question Description = 124_66_Museology_SEPT22_Q24]
1. 50 lux
50 ==
[Option ID = 2113]
2. 100 hux

100 ===

[Option ID = 2114]
3. 150 lux



100 =1

[Option ID = 2115]
4. 200 lux

200 ==

[Option ID = 2116]

25) Which chemical is used for deacidification of paper?
TS W AR TR % 7 T TETEE A T s

[Question ID = 530][Question Description = 125_66_Museology_SEPT22_Q25]
1. Aleohol

[Option ID = 2117]
2. Mereurie Chloride

[Option ID = 2118]
3. Potassium dichloride

wrefirrg fiaTes
[Option ID = 2119]
4. Barium hydroxide

[Option ID = 2120]

26) Bronze is analloy of

FaaT mAe 2
[Question ID = 531][Question Description = 126_66_Museology_SEPT22_Q26]
1. Copper and Zine
ATE T T
[Option ID = 2121]
2. Copper and Tin

e o T =

[Option ID = 2122]
3. Copper and Nickel

TE TS A

[Option ID = 2123]
4. Copper and Lead

AT TS HE

[Option ID = 2124]

27) Which chemical is used for wet preservation in Natural History Museums?
Tt Ufeaiie Taredl § e S £ T TETEE = Fan e e R

[Question ID = 532][Question Description = 127_66_Museology_SEPT22_Q27]

1. Acetone

e

[Option ID = 2125]



2. Phenol
[Option ID = 2126]
3. Benzens

EEis

[Option ID = 2127]
4. Formalin

Eon s

[Option ID = 2128]

28) Which of the following is a major threat to organic artefacts at high levels of RH?
RH % 5=9 =07 W 6000% Fargiad] S WE A #7972 7

[Question ID = 533][Question Description = 128_66_Museology_SEPT22_Q28]

1. Crizzling
At

[Option ID = 2129]
2. (Corrosion

Agmm

[Option ID = 2130]
3. Bronze dissase

EaLE
[Option ID = 2131]
4. Mould growth

[Option ID = 2132]

29) Which of the following is & modern management theory?

Frfotian & 8 = angfas waus fagra 27

[Question ID = 534][Question Description = 129_66_Museology_SEPT22_Q29]
1. Bureaucracy theory

e g

[Option ID = 2133]
2. Seientific theory

i fogm
[Option ID = 2134]
3. Behavioral science theory

wEntE-fars e
[Option ID = 2135]
4. Total quality management

[Option ID = 2136]

30) Budgeting based on previous period’s budget with some additions and subtractions is called



Fﬁiﬁﬁ&ﬁﬁ%ﬂﬁ;ﬁﬁﬁm%ﬂﬁ AR T T O g9 ] B

[Question ID = 535][Question Description = 130_66_Museology_SEPT22_Q30]
1. Zero-based budgeting

T M T

[Option ID = 2137]
2. Incremental budgeting

S 792
[Option ID = 2138]
3. Activity-based budgeting

T aminfa =9

[Option ID = 2139]
4. Value proposition budgeting

T HTEAT A9

[Option ID = 2140]

31) Which of the following statements is CORRECT?
[tatias @ wi9-a7 Fea 98 21

[Question ID = 536][Question Description = 131_66_Museology_SEPT22_Q31]
1. The shortest path in the Network Analvsis diagram is the eritical path.

o faverTo S W S T aEeE W A R |

[Option ID = 2141]
2. MBO aligns cbjectives across the organization.

WA, A F R % e w0 E |
[Option ID = 2142]
3. Use of MBO as an administrative device can correct all ills of any museum.
W I H ST TE FESE 99 % F9 8§ w0 A e srEen # w5 W g e =
T 2 |

[Option ID = 2143]
4. Diserimination has to be intentional to be unlawful

e 7 % fow sie- e s g e

[Option ID = 2144]

32) Which is the best way to help museum staff visualize and rehearse their behavior in real
disaster?
STCo AT § HAETEd WA ST T U W Saan 6 W w0 O gEa w1 aeied w2

[Question ID = 537][Question Description = 132_66_Museology_SEPT22_Q32]
1. Establishing an overall philosophy of disaster responses

e aEfEAel & wn i i wE

[Option ID = 2145]
2. Meetings with experts

foretett % ww dod
[Option ID = 2146]
3. Referring to the written disaster mansgement plan

fofian ayreg waya syar= =1 wed =90



[Option ID = 2147]
4. Scenario-making

[Option ID = 2148]

33) Which of the following best describes the eoneept of marketing?
FAmaTTEs © 8 miE-ar faeve & Aggn = Hems v %0 27

[Question ID = 538][Question Description = 133_66_Museology_SEPT22_Q33]
1. Commercialization

TR
[Option ID = 2149]

2. Advertising
=R

[Option ID = 2150]
3. Belling

Ert

[Option ID = 2151]
4. Exchange of values

= = S
[Option ID = 2152]

34) A museum is being promoted as ‘An Eduecational Pienic Spot” through its advertisements.
Which of the following appeals is being used in the advertisement?

Forelt Sierer 1 =95 e & e @ “Hufrs fefs ot 5 =08 wiee R w2 w e
f Feafefias O 8 Si5-87 apfrer 1 3791 T =1 o9 27

[Question ID = 539][Question Description = 134_66_Museology_SEPT22_Q34]
1. Rational

AT

[Option ID = 2153]
2. Bandwagon

HzaA

[Option ID = 2154]
3. ‘Bocial

HET =

[Option ID = 2155]
4. Emotional

TraaTE=
[Option ID = 2156]

35) What is the research technique that evaluates how a change in a certain variable or
combination of variables affects consumer behavior?

oz wia-Hi vty wfafa 2 5t w @ W e e 2 e = @ =90 % 7w A ofeds @ e =
SHERT S AT A R 7

[Question ID = 540][Question Description = 135_66_Museology_SEPT22_Q35]

1. Focus groups



FIFE TR
[Option ID = 2157]
2. Looking-in (online) research

- (HATeeR) e

[Option ID = 2158]
3. Burveys

HEHET

[Option ID = 2159]
4. Experimemntation

A

[Option ID = 2160]

36) Which of the following bipolar words, with various sradations, are used on Likert scale?

o whm w Fetanan g e aea) = e f&fa= shEt = 9 o = 2 7
[Question ID = 541][Question Description = 136_66_Museology_SEPT22_Q36]
1. Batisfied, Not important

[Option ID = 2161]
2. Important, Not important

[Option ID = 2162]
3. Will recommend. Will not recommend

[Option ID = 2163]
4. Apree, Disagree
Hedd, HEEHT

[Option ID = 2164]

37) The Antiquities and Art Treasure Act. 1972 is an aet to regulate the export trade in
antiguities and art treasures, prevention of smuggling and fraudulent dealings. Despite the
strong act and law 11% century Chola period bronze sculpture of dancing Shiva was stolen
and sold. Who was the culprit behind this activity?

fe whfRsdre vs o e wre, 1972 wiRadE w ard g, TRl ) T, @ eyt 1
ST W faEiT W TR A B, 36 ®en #UtEn 1 S ® aeem, O 119 whreg St
Y ) T T R e i S w8 | W e A Sen-we g

[Question ID = 542][Question Description = 137_66_Museology_SEPT22_Q37]
1. Subhash Kapoor
U HE

[Option ID = 2165]
2. Manish Kapoor

T 9

[Option ID = 2166]
3. Manish Sharma

e =

[Option ID = 2167]
4. Bubhash Sharma



w7 T
[Option ID = 2168]

38) Under the Antiquities and Art Treasures Act, 1972, Nicholas Roerich's works of art have been
termed as “art treasure” by the Governement of India. To which country did he belong?

fe vhfRidm e o tmvwme, 1972 % sia Wits 90N O e U S Se-wal o o e
% e o e 3, A e 2w @ water #7

[Question ID = 543][Question Description = 138_66_Museology_SEPT22_Q38]
1. England

EULE

[Option ID = 2169]
2. Portugal

LCUIG

[Option ID = 2170]
3. Russia

T

[Option ID = 2171]
4. Spmn

Eoc)

[Option ID = 2172]

39) The age criteria to consider illustrated Manuseripts antiquity under The Antiquity and Art
Treasure Act, 1972 1s
fe ufefrdl we A 39wz, 1972 % swis wifas wigfa wiesd = fBan f o e 7 §7

[Question ID = 544][Question Description = 139_66_Museology_SEPT22_Q39]
1. 100 years

100 =3¢

[Option ID = 2173]
2. 75 vears

Thad

[Option ID = 2174]
3. B0 years

50 =d

[Option ID = 2175]
4. No age criteria

¥7E =78 BT9eE 9 8
[Option ID = 2176]
40) Knowledge and practices concerning nature and the universe, Oral traditions and
expressions, performing arts and social practices, rituals and festive events are domains of
v T 1w fava & wafig 79 @ wgegn, difes W W@ afiseeal, S e W@ awtes ves
e ey A S e et

[Question ID = 545][Question Description = 140_66_Museology_SEPT22_Q40]
1. Mission of the National Museum, New Delhi



TiEa wEem, 7F Tl w1 we

[Option ID = 2177]
2. Mhssion of the Smithsontan Institution

@R 5= = @

[Option ID = 2178]
3. Convention of World Wild Life Fund of Nature

Wl 9% ares wes %z F wHm

[Option ID = 2179]
4. Convention for the safepuarding of the Intangible Heritage

A T i EEE s

[Option ID = 2180]
41) Meanings of mussography over g period of time include
{A) Description of museum and its contents
(B)  Artor technique of exhibition
(C) Theory of museum work
(D} Practical or applied aspect of museclogy

(E)  Technigue of conservation

Choose the correct answer from the options given below -
FwE B T = i § g
(A)  Fumed ot I Sw-om W vl
(B)  WoEe 1 = T T
(© g # & fagra
D) Frg-fam = saEwi 9 Wi T

(E) Tgm i 79+

R et D = o | e e e e - e e

[Question ID = 546][Question Description = 141_66_Museology_SEPT22_Q41]
1. (A), (B) and (D) only

e (A), (B) ¥ (D)

[Option ID = 2181]
2. (A), (D) and (E) only

& (A), (D) 3dk (E)

[Option ID = 2182]
3. (B, (C) and (D) only

#ae (B), (C) 3 (D)

[Option ID = 2183]
4. (A), (C) and (D) only



Fas (A), (C) 3 (D)

[Option ID = 2184]
42) Which of the following museums are governed by a Municipal Corporation?
(A) Kite Museum, Ahmedabad
(B)  Town Hall Museum, Kolkata
(C)  City Museum of Ahmedabad
(D)  Visakha Museum, Visakhapatnam

(E) Lok Kala Sangrahsalaya, Lucknow

Choose the correct answer from the options given below -

Peafetiaa @ & wi-319 8 Gugem T g g mEa 27
(8) FrefEm, oEEE

(B) T T A, Few

(€ 5l mform oife smmgers

@) Fere ofsm, e

St fou o fawes © F B8 3 = Fib:

[Question ID = 547][Question Description = 142_66_Museology_SEPT22_Q42]
1. (A), (B, (C) and (D) only

T (A), (B), (C) 37t (D)

[Option ID = 2185]
2. (A), (B). and (C) only

Fa5 (A), (B) 3t (O

[Option ID = 2186]
3. (B), (C) and (D) only

#=a (B), (C) 3 (D)

[Option ID = 2187]
4. (B}, (C), (D) and (E) onky

a9 (B), (0), (D) 3 (B)

[Option ID = 2188]



43) Collection management as & function involves the following main aspects
(A)  Budgeting for the collection
(B)  Developing policies for the colleetion
{C)  Exporting the eollection for commercial purpose
(D)  Developing strategies for building, weeding and maintaining the collection

(E) Speculating the market value of collection

Choose the correct answer from the options given below -

wETd % T 4 6UE WevE § Heenge qed Tee e o

@& e # fae e

B) =R F fom Hifr fowtEg =m0

(€)  anfiifess e ga-wue # Fafd e

D) = % Gy, ga o wwwE = o sl G =

(E) #U% % aran-T5a F1 30 &

e fog T fowed | 9w 39 w0 =Ee S

[Question ID = 548][Question Description = 143_66_Museology_SEPT22_Q43]
1. (A), (B) and (D) only

A (A), (B) 2 (D)

[Option ID = 2189]
2. (B), (C). (D) and (E) only

F@d (B), (0), (D) 3t (B)

[Option ID = 2190]
3. (&) (O) and (D) only

Faw (A), (C) = (D)

[Option ID = 2191]
4. (A), (B). (C) and (E) enly

3 (A), (B), (C) 3% (E)
[Option ID = 2192]
44) Which of the following are the domains of Intangible Cultural Heritage?
{A)  Soeial practices. rituals and festive events
(B)  Performing arts
{C)  Visualarts

(D) Traditional eraftsmanship

Choose the correct answer from the options given helow :



Frefafs 3 % =93 o wicsts e 5 85 37
(A)  EHEIE e, S S A s A
(B)  FsiT =

© s

(D) s faee

e fon T fwedl 8 @ 96 I o =99 St

[Question ID = 549][Question Description = 144_66_Museology_SEPT22_Q44]
1. (A). (B), (C) and (D) only

5 (A4), (B), (C) 3 (D)

[Option ID = 2193]
2. {A), (C) and (D) only

¥4 (A), () 3t (D)

[Option ID = 2194]
3. (A), (B) and (D) only

¥ (A), (B) 2 (D)

[Option ID = 2195]
4. (B), (C) and (D) only

%3 (B), (C) 3t (D)
[Option ID = 2196]
45) Which of the following are basic standards of Museum Documentation?
(A)  The museum’s accession records are written in permanent ink.
(B} A unigue number is assigned to each object.
(C)  The museum propares a formal annual budget.
(D)  The mussum has a written acquisition policy.

(E})  The museum maintains 8 written pelicy on de-aceessioning.

Choose the correct answer from the options given below -



ety 3 5 =9 7 Srae aeas I TR R 7

(&) Hwgren atgren afiee (e ) = o § g )
(B)  wwaw oy 1 OF fafie we wae o w6 3

(C) wwgren i aiis F92 $90 5149 £ |

(D) =wwre & o iy oo it g 21

(B) =merem &y st (Fetwseting & wav @ fofas ity 2t £1

= fou T el 7 2 w8 59 = =4 i

[Question ID = 550][Question Description = 145_66_Museology_SEPT22_Q45]
1. (A}, (B) and (C) only

#qe (A), (B) 3k (C)

[Option ID = 2197]
2. {A), (B), (C), (D) and (E) only

Fam (A), (B), (O), (D) 3t (E)

[Option ID = 2198]
3. (B)and (E) only

@ (B) 31 (E)

[Option ID = 2199]
4. (A), (B) and (E) only

Fa (A), (B) 3l (B)
[Option ID = 2200]
46) Which of the following are functions of Accession Register?
(A}  Designates the objects belonging to the museum
(B)  Establishes the identify of an object
(C) Identifies each object with an individual number
(D) Enables a periodic audit of the collection

(E) Enables the whaole ecollection to be evaluated

Choose the correct answer from the options given helow :



STy T % Frettatas § § s e 1

(A)  wugeE # FEA F AWRE =

(B) g ¥ g W o g

(C) W 95g £ Yege s "5 § FA
(D) H9E % Faies HhgT F 959 T ¢ |

(E) =yt ams = s == 2

J=t fam o famdl § § 8 39 9 =9 e

[Question ID = 551][Question Description = 146_66_Museology_SEPT22_Q46]
1. (A), (B). (C), (D) and (E)

& (A), (B), (C), (D) 3t (E)

[Option ID = 2201]
2. (A), (D) and (E) only

Fae (A), (D) 3 (B)

[Option ID = 2202]
3. {A), (C). (D) and (E) only

Fae (A), (O), (D) 3ft (E)

[Option ID = 2203]
4. (B). (C). (D) and (E) only

3@ (B), (C), (D) ¥ (E)
[Option ID = 2204]
47) A museum should apply Entyy Documentation to whieh of the following upon their arrival?
{A)  Potential gifts
(B)  Potential purchase
(C)  Purchased objects

(D) Objects brought in for identification

Choose the correct answer from the options given helow -

HUETEE W Heenad O # e AT W ie sraa e e 9

(A) FwEE IR
By wwiEw =iy
(C) e &

(D) wE=E % o e o s

5= fou i fwed @ 98 I = =99 e



[Question ID = 552][Question Description = 147_66_Museology_SEPT22_Q47]
1. (A), (B) and (C) only

#Faw (A), (B) 3 ()

[Option ID = 2205]
2. (B}, (C) and (D) only

g (B), (C) 3itt (D)

[Option ID = 2206]
3. (B)and (C) only

Faw (B)a (€)

[Option ID = 2207]
4. (A), (B). and (D)

¥4 (4), (B) 7 D)
[Option ID = 2208]
48) Calour can be used in exhibitions to depict or create
{A)  Political aszoeiation
(B)  Cultural association
(C)  Mood
(D)  Contrast

(E} Intellectual association

Choose the correct answer from the options given below -
st H T o W e w5 e gt W ¥ T g -

{A) TEHTTE #EY
B) EEHE T
(€) mEm (q3)

D) A (Fg)

(E) wifgsasy

45 foo e e 4 € w8 s 9 A

[Question ID = 553][Question Description = 148_66_Museology_SEPT22_Q48]
1. {Ayand (B) only

w5 (A) 37 (B)

[Option ID = 2209]
2. {A), (B) and (C) only

Faw (4), (B) =3 (O)

[Option ID = 2210]
3. (A), (B), (C) and (D) only

e (A), (B), (C) sitt (D)

[Option ID = 2211]



4. (A). (B). (C) and (E) only
a4 (A), (B), (C) # (E)
[Option ID = 2212]
49) Which of the following should be monitored in a showcase to safeguard objects from damage?
(A) Temperature
(B}  Relative humidity
(C)  Light
(D) Colour temperature

(E)  Biological organisms

Choose the correct answer from the options given below :

st 9 s & e v e d P 4 @ Rt B < wrh =i

(A)  FrEE

(B) =g

(©) =

D) A

(E) o= wm=

H= fou ™ e | § wE I 9 =99 Fiha

[Question ID = 554][Question Description = 149_66_Museology_SEPT22_Q49]
1. (A), (B) and (D) only

A (A), (B) 2 (D)

[Option ID = 2213]
2. (A). (B). and (C) only

¥== (A), (B) 3 (O)

[Option ID = 2214]
3. (A} (B). (C) and (E) only

waw (A), (B), (C) 3t (E)

[Option ID = 2215]
4. (A), (B). (D) and (E) only

A= (A), (B), (D) 3% (E)

[Option ID = 2216]



50) Which of the following intrinsic characteristics of exhibited objects are likely to have
significant impact on visitors?

(A) Size

(B)  Colour of the background

(Cy  Light
(D) Material
(E) Shape

Choose the correct answer from the options given below -

Tefife s # - ai e = wvEs = ara g v 5 B 27

(A)

®) EEEE

(Cy =

D) =W

(E) wrHa

Jre fom o Rt F 9 98 39 =9 e

[Question ID = 555][Question Description = 150_66_Museology_SEPT22_Q50]
1. (A), (B) and (D) only

= (A), (B) 3k (D)

[Option ID = 2217]
2. (A), (D) and (E) only

5% (A), (D) 3 (E)

[Option ID = 2218]
3. (A), (B), (C) and (E) only

Faw (4), (B), (C) 3it (E)

[Option ID = 2219]
4. (A), (B). (C) and (D) only

a3 (A), (B), (O 2 (D)

[Option ID = 2220]



51) The term “free choice learning in museums includas
{A)  Flexible and Self-directed proceszs of learning
(B}  Learning output controlled by the docent
(C)  Learners control the learning process

(D) Preferences and motivation devide what, when, where and how to learn

Choose the correct answer from the options given below -
Ay ¥ S fowey AT I | Wb
(&)  =fim f wreEi ot w-FERE b
(B) e g FaEtm afem fom |
(C)  wftrmosal sfemy sl = Fafie =0 )

(D) fagmEar s 30 a9 Boig S § B T, 59, %8 A+ g e

feu o famet § 9 w4 39w = At

[Question ID = 556][Question Description = 151_66_Museology_SEPT22_Q51]
1. (A). (C) and (D) only

5 (A), (C) =it (D)

[Option ID = 2221]
2. (B), (C) and (D) only

F=w (B), (C) 3t (D)

[Option ID = 2222]
3. (A). (B) and (D) only

o (A), (B) ¥ (D)

[Option ID = 2223]
4. (A), (B) and (C) only

F== (A), (B) o (O
[Option ID = 2224]
52) Which of the following programmes are specifically meant for children or students?

(A)  Docent Service
(B) Gallery Lessons

(Cy  Creativity Workshops
(D)  Friends of Museum

Chooze the correct answer from the options given below -



Frffan 3 # Si-30 7 Sl fBem w0 7 a==1 o fenkla & fom wfem 47

(A4) ZEzEw
B i wE

(C) =S e

D HuEew R

s feu v freel 1 3 w8 0w =77 S -

[Question ID = 557][Question Description = 152_66_Museology_SEPT22_Q52]
1. (A) and (B) only

et (A) 3T (B)

[Option ID = 2225]
2. (Bjand (C) only

Fa (B) 3t (C)

[Option ID = 2226]
3. (C) and (D) only

=== (C) =@ (D)

[Option ID = 2227]
4. (A) and (D) onlx

Fa (A) dt (D)
[Option ID = 2228]
53) Annual report of a museum contains:

(4)  Description of activities of a museum in a financial year
(B)  Research articles on museum collection

(C)  List of museum's publication

(D} List of the museum staff

Choose the correct answer from the options given below :
el wmerere < i foard F Fretetas s w0 &
(&) o s = # felt e % wew = R
B) TIEEE % v 3 wEn § o o
(C)  wged = WS A
D)  wwmrew % st £ g

et fom o fomedl 8 F =8 5 % =95 S -

[Question ID = 558][Question Description = 153_66_Museology_SEPT22_Q53]
1. {A), (B) and (C) only

Fa+ (4), (B) 3 ()

[Option ID = 2229]
2. (B). (C) and (D) enly

Faw (B), (C) 3 (D)



[Option ID = 2230]
3. (A), (C) and (D) only

Fa= (A), (O) (D)

[Option ID = 2231]
4. (A), (B). (C) and (D)

(A), (B). (C) =k (D)

[Option ID = 2232]

54) Which of the following are examples of Restoration?

{4) Lining of a miniature painting

(B)  Consolidation of flaking of a painting
(C)  In-painting of an oil painting

(D) Joining of terracotta pieces of a pot

{E)  Joining of a broken piece of a sculpture

Choose the correct answer from the options given below -
Fettias § 8 Sh-=A 2 TEE F e 5

(&) T g o o wel

(B) et &3 &1 w5S =1 wed y@a =
(C)  Fod s Wi =t 1 W e |

(D) ot comra wqEvvE % e SPT H e |
€) foh sfom 5 @i 758 = Fen |

= Tow T e 8 T wE S = A

[Question ID = 559][Question Description = 154_66_Museology_SEPT22_Q54]
1. (A), (B) and (D) only
=4 (4), (B) 3k (D)

[Option ID = 2233]
2. (C), (D) and (E) only

Fa (C), (D) 3t (E)

[Option ID = 2234]
3. (A), (B), (D) and (E) enly

wEa (A), (B), (D) 3 (E)

[Option ID = 2235]
4. (B), (D) and (E) only

& (B), (D) 3 (E)

[Option ID = 2236]



55) Which of the fu]luwing_ are the ethics'of conservation?

Y]
(B)
(©
@

(E)

Artifact should be presented in a shining and pristine condition.
All treatments should be retreatable.
Treatment should be as per the financial value of the artifact.

While earrying out any kind of new intervention which is being used for the first time,

consultation with fellow conservators may be made.

Conservation Treatment should be as minimum as pessible.

Choose the correct answer from the options given below -

Ffiafian 2 % -2 & 5w S ¥ g 87

(A)  FerEed ® W 9 3 qUeT €9 1 $ogg S Se |

(B) =M T T TR A9 B e

(C) =R = oo F 56 g0 + 9 w9 T |

@ Tt ot wew = T smg, T8 wme o o w w oR. W w0 8 e O W e
gt fem = |

(E) =™ 3990 go7 8499 509 5 e |

et fem mu fememal o 8 w8 w0 o A= Hif -

1

[Question ID = 560][Question Description = 155_66_Museology_SEPT22_Q55]
- (A). (B) and (D) only

w3 (4), (B) =t (D)

[Option ID = 2237]
2. (B}, (C), (D) and (E) only

=4 (B), (C), (D) 37 (E)

[Option ID = 2238]
3. (Ayand (C) only

waw (A) #@h (O

[Option ID = 2239]
4. (B), (D) and (E) only

F@w (B), (D) 3 (E)

[Option ID = 2240]

56) Silicious material includes:

(&)
(B}
(C)
(ib]]

(E)

Glass
Asphalt

Terracotta

Paper

Porcelain

Choose the correct answer from the options given below -



fafeteras amfl f 22 wigs 2

Ay "=\
(B) TEweE
(C) =
o =
(E) i

et fom o forwedl A @ geE 9w I9 w wA Si0A0

[Question ID = 561][Question Description = 156_66_Museology_SEPT22_Q56]
1. (A), (B) and (D) only

A (A), (B (D)

[Option ID = 2241]
2. {A), (C) and (E) only

Fa7 (A), (O) = (E)

[Option ID = 2242]
3. {A), (B) and (E) only

Fas (A), (B) ™= (E)

[Option ID = 2243]
4. (A), (B) and (C) only

= (A4), (B) ™ (C)
[Option ID = 2244]
57) Which of the following treatments are generally reldted to oil painting on canvas?
(A)  Leaf Casting
(B)  Strip lining
(Cy  De-acidification
(D) Lining

(E) Varnishing

Choose the correct answer from the options given below -



Fomm WA W B waE St Pt 4 2 99 8 IRy
(A) =i e
(B) &3 wEm

(C)  efisnaer it FHT F11
D) wEET

(Ey =i

9 fou Mo fammdl @ 6 wad 3w Imow = S

[Question ID = 562][Question Description = 157_66_Museology_SEPT22_Q57]
1. (A). (B) and (D) only

= (A), (B)wE (D)

[Option ID = 2245]
2. {A), (B)..(D) and (E) only

Fa7 (A), (B), (D) w= (E)

[Option ID = 2246]
3. (B), (D) and (E) only

%aw (B), (D)@ (E)

[Option ID = 2247]
4. (A), (C), (D} and (E) only

A (A), (C), (D) =& (E)

[Option ID = 2248]
58) Which of the following are examples of ‘standing plans™?

(A}  Recruitment Rules
(B)  Advertising campaign
(Cy  Mission statement
(D)  Budget

(E)  No smoking policy

Choose the correct answer from the options given below :
Frerotian @ st "Cifen wrm (Tt areenat) % SgE R 7

(A)  wdlf FEm

B) B s

(C)  afirm (fvm) s
D) ==

(E) s Hify

et ol e it



[Question ID = 563][Question Description = 158_66_Museology_SEPT22_Q58]
1. (A). (C) and (E) only

=g (A), (C) 3k (E)

[Option ID = 2249]
2. (B}, (C) and (D) only

== (B), (C) 3 (D)

[Option ID = 2250]
3. (C), (D) and (E) only

Fad (C), (D) 3t (E)

[Option ID = 2251]
4. (A), (B) and (D) only

& (4), (B) 3t D)
[Option ID = 2252]
59) Which of the following steps invelved in Disaster Management are taken before a disaster

oceurs?
(A}  Reduce or remove risks
(B)  Follow emergency procedures
(€Cy  Raisk assessment
(D)  Training of staff
(E}  Recording and evaluating

Choose the correct answer from the options given below

ftatian @ 9 557 fft a5 9fes 29 9 o e wE o9 Ay wewE S I E -

(A) TifEm = = R g =

(B)  IOEHEEA S w5 e
(€ ifn qFTE

D) =E = wEE

()  aifirees uF gemed

e fon o e § 2w 59w =99 St

[Question ID = 564][Question Description = 159_66_Museology_SEPT22_Q59]
1. (A), (C) and (D) only

7 (A), (C) ¥R (D)

[Option ID = 2253]
2. (A). (D) and (E) only

Faw (A), (D) =it (B)

[Option ID = 2254]
3. (A). (B), (C) and (D) only

F=w (A), (B), (C) 3t (D)

[Option ID = 2255]
4. (B), (C). (D) and (E) only



Fa= (B), (0), (D) 3 (E)

[Option ID = 2256]

60) Marksters create demand by
(A) Creating needs
(B}  Malang people buy things they do not want
{C)  Making the product appropriate
(D}  Make the product attractive
(E} Making the product affordable

Choose the correet answer from the options given below -
fErrmeaf feietaa § & fers g g 3 = 27
(A)  wETEET 39 w0
(B) = # THi-wgn Wi & o A w9 w9
(C) =% i SgF = H
(D) 7R F A= T =

(E)  309rs s =g =

= fou o st & © @t 39w = i

[Question ID = 565][Question Description = 160_66_Museology_SEPT22_Q60]
1. {A), (C), (D) and (E) only

F55 (4), (C), (D) 37 (E)

[Option ID = 2257]
2. (A), (C) and (E) only

Fa7 (A), (C) 3 (B)

[Option ID = 2258]
3. (&), (C) and (D) only

Faw (A), (C) 2 (D)

[Option ID = 2259]
4. (C), (D) and (E) only

Faw (), (D) 31 (E)

[Option ID = 2260]

61) Which of the following are source of powerful messages shout a museum and its offerings that
come from sutside and are not controlled by it?
(A)  Word of mouth
(B) Media coverage not stimulated by PR activity
(C)  Media coverage stimulated by PR activity
(D) Blogs
(E) Twitter

Chooze the correct answer from the options given below -



Prafafas 3 8 %9 9 dpgew 2 o) wafa & ooy § o 9o0 S 90 A8 & W 9 ® W 8 e
(A) =2 W AT

(B) Hifem wues 9 an fdfEt & 9 2 @

(€)  ifem sat= =i O am afafes = dfw 7

-

(Dy =AM
E) faz
drt fop o e d F wE I T =9 Fie

[Question ID = 566][Question Description = 161_66_Museology_SEPT22_Q61]
1. (A), (B), (D) and (E) only

5% (A), (B), (D) = (E)

[Option ID = 2261]
2. {A), (D) and (E) only

== (A), (D) 3 (E)

[Option ID = 2262]
3. (C), (D) and (E) only

#= (C), (D) 3 (B)

[Option ID = 2263]
4. (A). (B) and (D) only

== (A), (B) 3t @)

[Option ID = 2264]

62) Underthe Antiquity and Art Treasure Act. 1972 the Government of India may make an order
for compulsary acquisition of

(A)  any antigquity owned by private collectors.
(B)  anyantiquity owned and controlled by private art galleries.
(C)  anyillustrated manuseript owned by private collectors.

(D)  any antiquity or art treasure used for religious chservances.

Choose the eorrect answer from the options given below :

TR T, T uE i i e, 1972 % e Faefefian % wfed sfiren  amem waea @
(&)  wreEe TIE & w6 w5 e

(B) iz wé et ¥ st @ Frifm i watRd

(€)  ure wues & wiire 1 w5 wfy wisfay

(D) i e % fora was =+ W amar W g

drt fom o R € 9 w9 3 1 = Fifeu

[Question ID = 567][Question Description = 162_66_Museology_SEPT22_Q62]



- (A), (B), and (C) only

= (A), (B) 3t (C)

[Option ID = 2265]

. (C) and (D) enly

e (C) 37 (D)

[Option ID = 2266]

- (A}, (B), (C) and (D) only

Fa@ (A), (B), (C) 3 (D)

[Option ID = 2267]
(B), (C) and (D) only

= (B), (C) 3itt (D)

[Option ID = 2268]

63) (Certain acts are prohibited within the monuments as per the Ancient Monuments and
Archaeologieal Sites and Remains Rules, 1959, Identify the prohibited acts:

@
®)
©
)
)

Beg for alms

Bringing animals for purpose of maintenance
FPhotography

Discharge any fire-arm

Any act which causes or is likely to cause damage or imjury to any part of the
monument

Choose the correct answer from the options given below -

TRz AR WS I aE ATSeR WE [0 T, 1959 % e, T 6 35 9 Mg e A

g el 1 e =i

(A) o= ar

(B) v Sive 7g v H W

(C)  wiemr

©) e S feerd

(E) &0 %o fomst wmess & Tl w1 sman Sowrm o S B SR T UEE 6
= fou o fwedl # & w8 5 W =9m S

[Question ID = 568][Question Description = 163_66_Museology_SEPT22_Q63]

1.

2

4

(&), (B), (D) and (E) enly

F79 (A), (B), (D) ok (E)

[Option ID = 2269]

* {A), (C) and (E) only

35+ (A), (C) 3 (B)

[Option ID = 2270]
3. (B}, (C) and (I only

5= (B), (C) 3 (D)

[Option ID = 2271]

- (&), (D) and (E) only



F= (A), (D) 3 (B)

[Option ID = 2272]

64) Works of art of which of the following artists have been declared Art Treasures under the
Amtiguities and Art Treasure Aect, 1972

(A) S.H Raza
(B)  Jamini Roy
(C)  Nandlal Bose
(D) N.S. Bendre

{(E) Raja RaviVarma

Choose the correct answer from the options given below :

Tfratern Ug ¥R & we, 1972 % #@win fam Preatehas e it 5o = i o 9fm
T B

(A)  mE =T

(B) =i e

(C) e am

(D) . A

(o) s

7= fom o Bt d # w8 v o =29 Fifew

[Question ID = 569][Question Description = 164_66_Museology_SEPT22_Q64]
1. (A), (B). (C) and (E) only

Faw (A), (B), (C) 3k (E)

[Option ID = 2273]
2. (B), (C) and (E) only

e (B), (C) 3ftt (B)

[Option ID = 2274]
3. (B). (D) and (E) only

= (B), (D) 5 (E)

[Option ID = 2275]
4. (A), (D) and (E) only

3=+ (A), (D) 3 (E)

[Option ID = 2276]



65) Photographs are used in museum displays for

{A)  Creating mood

(B)  Tustrating comparable objects

{C)  PBringing the image of big object which could not themselves fit in the gallery

(D) Enlarging very small objects

(E)  Overpower the original objects
Choose the correct answer from the options given below -
Hrerer oo © wrem, W I es e fem e g -

(A)  wreET daT w T

(B) eI S Wy e 6

(€) =% = = s Wiy fed § wrateE (fee) o8 @ e, 9 of W 2
D) wga otd wege # e wE e

(B) = =easdl #1 ugs #1 = # fen

44 fom T fawedt & F w6 3w 599 i

[Question ID = 570][Question Description = 165_66_Museology_SEPT22_Q65]

1. (A). (B) and (D) only
#5e (A), (B) = (D)

[Option ID = 2277]
2. (B), (C) and (D) only

== (B), (C) 3t (D)

[Option ID = 2278]
3. (A). (B), (C) and (D) enly

ae (A), (B), (C) ¥ (D)

[Option ID = 2279]
4. (B). (C). (D) and (E) only

== (B), (O), (D) 3 (E)

[Option ID = 2280]

66) Match the books in List T with their authors in List I1 -

ListI List IT
(Books) (Authors)
(A) The Museum Environment (Iy  Alma 3. Wittlin

(B) Museums m Searchof Usable Future (II) Eilean Hooper Greenhill
{C) Museum Exhibition: Theory and (III) Garry Thompson

Practice
(D) Musewms and Shaping the Future (IV) David Dean

Choose the correct answer from the options given helow:



gt 1% = g=ht 11 = e i)

=1 et 11
() T&ogfsm T M e . e

(B) wfeam = 7e w oEe TEe (1) s g O e
(C) vyfem ufiueiye - faed we 3fFm (D) ) ames
(D) wgfsaes Tz 3im 15 w= av) F=dm

fen oo ol 6 9 w4 w90 o =99 HifE -
[Question ID = 571][Question Description = 166_66_Museology_SEPT22_Q66]
1+ (A)-IID), B)-), (C)-IV), D)D)

[Option ID = 2281]
2. (A)(T), (B)-AI). (C)-(IID), @)-IV)

[Option ID = 2282]
3. (A)-(ID), (B)-(II), (C)-IV), M)-D

[Option ID = 2283]
4 (A0, (B)-(D), (O)-aV), (D)-11D

[Option ID = 2284]

67) Match List T with List IT -

List1 List 1T
(Specimen) (Subject)
(A) Pangolin (I} Herpstology
(B) Locust (IT}  Ornithology
(C) Emu (III) Entomology
(D) Boa (IV) Mammalogy
(V) Ichthyology

Choose the correct answer from the options given below:

= 1% o 5= 1 =0 faepg e |
bl LBl
A wiEw
(A) Tt @ whgfems
B) fem Il ==
(€ @ (1) e

(D) == (A (IV) == fome
(V) == o

fou o e # 5w I 0 =99 S0
[Question ID = 572][Question Description = 167_66_Museology_SEPT22_Q67]
T (A)-(IV), (B)-(TII), (C)-(T), (D)-(II)

[Option ID = 2285]
2. (A)-IIT). (B)-(D). (C)-(IT). D)-(IV)

[Option ID = 2286]
3. (A)(ID), (B)-(III), (C)-(I), (D)-IV)

[Option ID = 2287]
4. (A(IV), (B)-(III), (C)-(II), (D)-I)

[Option ID = 2288]



68) Match List I with List IT -

List I
(Books)

(A) Care and Conservation of Natural (I)

History Collections

(B) Information Handling in Museums

(C) Elements of museum documentation
(D) Museum Registration Methods

In
(11T}
{av
V)

List IT
(Authors)
Elizabeth Orna and Charles Petitt

Dorothy H. Dudley, Irma Bezold
Wilkinson

Yvonne Oddon

Carter, D. & Walker AK

Morris, P

Choose the correct answer from the options given helow:

ot 1% 5re gt 11 firems it
F=1

Tk

(8) ¥ UE FovE NI e el Feee

(B) wwia f=fam o e
(C) wfenica witw rgfam egaia
(D) wafmm facem tas

fon o famedl O 9 = 39T =99 Sitaw

=
e

(I) = w=. Z5d, T 94es e
av) =&, & 3o, UE.

HiiE, b

[Question ID = 573][Question Description = 168_66_Museology_SEPT22_Q68]

T (AIIL), (B)-(V). (C-ID), (D)-T)

[Option ID = 2289]
2. {A)(IV), (B)-{ID), (C)-(1II), {D)-(V)

[Option ID = 2290]
3. (A)(D. (B)-IID), (C)-(IV), (D)-(V)

[Option ID = 2291]
4. (A)-IV), (B)-(D), (C)-(I11). (D)~II)

[Option ID = 2292]
69) Match List I with Last [T :
List I
(Types of exhibitions)
(A) Bystematic exhibition
(B) Ecological exhibition
(C) Comparative exhibition

(D} Thematic exhibition

@
a1y
(1)
)

™)

List IT
{Methods of Display)

Presenting ohjects to show similarities
or contrast
Arrangement of objects/specimens
taxonomically
Objects/cpecimens arranged to tell a
story
Objects/speciments  put in  their
natural environment
Arrangement of objects/specimens

chronologically

Choose the correct answer from the options given Arrangement of objects/specimens

taxonomically given bhelow:



Tt 1% = 5= e foery Fiteg)

=1 T I
e % T Eor
(A)  ojareTas S O wwmd o AR wh w T e W
TEER |
(B) ity el (D) =g/ = Ffies srewrH
(€) aeFTeTF we (III) #ee a9 + fo =af@m aege /=

(D) Tomm aminfo weskh IV) ¥ afife ofdw o wef o ooqd /o
(V) == /a5 Sre-#aaT 9w
3 fer m2 e O B T8 T = i
[Question ID = 574][Question Description = 169_66_Museology_SEPT22_Q69]
- (A)-I). (B)-I), (C)-IID), (D)-(V)

[Option ID = 2293]
2. (A)ID). (B)-(I). (C)-(IV), (D)-(IIT)

[Option ID = 2294]
3. {(A)-ID), B)-IV), (€)-(I), (D)-(1ID)

[Option ID = 2295]
4. (A)-(V), (BY(III), (C)-I), (D)-(T)

[Option ID = 2296]

70) Match List T with List 1T -

List1 Lasg IT
{Learming Concepts) (Meaning)

{A) Informal learning (I'' Learning Environment for Informal
Learning

(B) Holding power (I} Learning that is evaluated according
to preseribed standards

(C) Informal setting (IIT) Time spent viewing an exhibit

(D) Formal learming {IV) Freechoice learming that is, self paced.
voluntary

Choose the correct answer from the options given below:

et Lo v g 1= e St
=1 I
(A) et afom @ sFteTe st % fow s amE)
(B) & aifas (D) =t Fare g G oe % =g
F =
(C)  FFft=is saom (IID) Tt wegls =1 g = 5mg |
(D) afwfes wfimm (IV) =g7s fame wifema = ol 7fa @ S50= 9|
few e femeedt o # ey =9 s S SifE

[Question ID = 575][Question Description = 170_66_Museology_SEPT22_Q70]
T (A=), (BY-(IV), (C)«IL). (D))

[Option ID = 2297]
2. (AIV), (B}IID, (C)-(1), (D)-AD)

[Option ID = 2298]
3. (A)-(I), (B)-(ID), (C)-(III), (D)-(TV)

[Option ID = 2299]
4. (A)-{ID, (B)-I). (C)-(TV), (Dy-(III)

[Option ID = 2300]



71) Mateh List T with List IT -

Last 1 Last IT
(Basis of Regrouping of Collection) (Objectives of Storage)
(A) Material Ty Security
(B) Value (II) Space
{C) Dimension (II) Conservation
(D) Origin (IV) Message

Choose the correct answer from the options given below:

Tt T Tme 5= 11 T e |

=1 = 10
IO & T Y & O UET & 9evE
(A) wmE O T
(B) #7= (II) ==
(C) {III) =&
(D) =g awv) @em
fem w femedl # & w6 39 = =29 Hifew

[Question ID = 576][Question Description = 171_66_Museology_SEPT22_Q71]
1o (AIID, (B)-(0). (C)-{ID), D)-IV)

[Option ID = 2301]
2. (A)y(IV), (B)-(I1}, (C€)-IID), (D))

[Option ID = 2302]
3 (A, (BY~(IIT), (C)-(IV). (D)~IL)

[Option ID = 2303]
4. (A, (B)-(IV), (Cy-(I), (D)-(IID)

[Option ID = 2304]

72) Match List T with List 1T -

TistI List 1T
(Organizms) (Family)
(A) House Sparrow (I) Arthopods
(B) Prawn (II) Reptile
(C) ILizard (IIT) Awves
(D) Bat (IV) Amphibian
(V) Mammal

Choose the correct answer from the options given helow:



Tt 1% e 5=t 11 = e i

T 1 T I
e e
(A) ittar @M = (seds)
®) fm ) =iy
(C) o= (IIT) st
(D) =mEg (IV) 9=
(V) s
fem o et F © wh 5o T T S

[Question ID = 577][Question Description = 172_66_Museology_SEPT22_Q72]
1. (AT, (B)-0). (C-(ID). D)-(V)
[Option ID = 2305]
2. (A)IV), (B)(IL), (C)-I1I), (D)-(T)
[Option ID = 2306]
3. (A)-). B)-(III), (C)-(IV), D)-ID)

[Option ID = 2307]
4. (A)-(I). (B)-(IV), (C)-(V). (D)-(III)

[Option ID = 2308]

73) Match List I with List I1 -
List1 List IT
{Type of plan) (Characteristic/used in)
(A)  Operational planning ([) Emergency
(B) Strategic planning (I} Short term
(C) Contingeney planning (III) Day-to-day functioning
(D) Taetical planning (IV) Leng term

Choosze the correet answer from the options given below:

et I am =i 11 & e Hifa |
o1 I
(@ =) (i nE Bgreand)

(A) e ww @
(B) FHfaE QD g e
(€) wrsfdre wmrem (I 2 wfataret
(D) =i awrE IV) =nd sty

fom s e § # wdl =90 =0 =99 Siran -
[Question ID = 578][Question Description = 173_66_Museology_SEPT22_Q73]
1. (A)-(IID). (B)-AV), (C)-D), M-I
[Option ID = 2309]
2. (A)III), (B)-(IV), (C)-II). (D))
[Option ID = 2310]
3. (A)-(II0), (B)-(IT), (C(IV), (D)-)

[Option ID = 2311]
4. (A)-(IV), (B)-(III), (C)-(D, (D)-{II)



[Option ID = 2312]

74) Match List I with List IT :

)
(B}

(€

(D)

List1
(Marketing concept)
Value M)
Need (1L
Want (III)
Demand TV
V)

List IT

(Description of Marketing Concept)

Wants supported by purchasing power
A state of deprivation of some basic
satisfaction

Customers estimate of the products
overall capacity to satisfy s or her
nesds

Desires for specific satisfier of needs

Marketer's capacity to communicate
-and deliver

Choose the correct answer from the options given helow:

a=h 1% = 5= 1w firer Sifs
T 1 = 11
(ferm= agmrmo) (oo, zmaemen = o)
(4) 7= @ -7 50 T a =
(B) smEvasa (I) &= gz =3 = staa 51 @ f
€ s==1 (III) Svdiear g0 396 Amga=sa =1 0 & 5
095 &) AU0 Fad1 F AR
(D) =i V) wewesaa & fabe, sgfmgm % o
=T
(V) =399 o w5 o 4 oot o e
fem . e o B v wwe 0 ww A

[Question ID = 579][Question Description = 174_66_Museology_SEPT22_Q74]
1. (A)-(II), (BY-(IV), (C)-(V), (D)-(ID)

[Option ID = 2313]

2. (A)-(TIT}, (B)-(IT), (C)-(IV), (D)-(V)
[Option ID = 2314]

3. (A, (B)-(II), (C)-(IV), (D)<(T)
[Option ID = 2315]

4. (A)-(ID), (B)-(III). (C-(IV), M)~

[Option ID = 2316]

75) Mateh List I with List I1 -

(&)

B
(€

D

List T List IT
{Act/Convention) {Coneern/Example)

Convention conecerning the protection (I) Prevention of Illicit Trade

of the world cultural and natural

heritage

Convention for safeguarding of the (II) Uprootinga tree

Intangible heritage

CITES (IIT) Transport of ivory manuscript from
India to another country

The Wild Life Protection Act (IV) Inscription of Jandiala Guru's
metalsmiths (Thatheras)

(V) Imscription of Tajmahal

Choose the correct answer from the options given below:



w15 w1 1o e A1

=1 = 1
afefas e LR ES
(A) fovs safis m el s s ammd () e s & dem
Tafys FATE
(B) =g fre= F w2y TrH (I0) = = F=n
(C)  Hiamsiim (IIT) wTg ® 377 =30 = Teee % wer =
Rl
(D) fa arses =% WA W (IV) itearet 1 = Sestiel (God) # s
=l
(V) AramEs = 3 B
fan my Pt © A d w7 = i

[Question ID = 580][Question Description = 175_66_Museology_SEPT22_Q75]
1. (A)-(V), B)-ID), (C)-(I). D)-(D)

[Option ID = 2317]
2. (Ay-(V, (B)-(IV), (C-IID), (D)~ID)

[Option ID = 2318]
3. (A)(V). (BI(IV), (C)-(II), (D)-(III)

[Option ID = 2319]
4. (A)-(IV), (B)-(V), (C)-(T). (DH-(I1I)

[Option ID = 2320]

76) Identify the correct chronological order of the following museums/gallery in terms of their
vear of establishment/event:
(4)  The Museo Sacro, the first musenm in Vatican was opened in Rome.
(B)  The Uffizi Gallery in Florence was officially opened to public.
(C)  The British Museum in London was opened to the pubhc:

(D)  The Belvedere Palace of the Habsburg monarchs in Vienna opened with an
outstanding collection of art.

Choose the correct answer from the options given below -

Pt g el 5t S5 T /2 % A % A9EE GE SEAAHET ST

(A) Teoafsat o, 70 § Gtz o 9een Suaag = T

B) fzafeh Al o v B e F T snfuete w1 @ e

(C) = o g fafen mrmm =7 s = T =@ =

(D) feorn o ored i % oAt dow =1 w9 % sopw wwe % @ @

[Question ID = 581][Question Description = 176_66_Museology_SEPT22_Q76]
1. (A), (O, (B). D)

[Option ID = 2321]



2. (C), (D), (B, (A)

[Option ID = 2322]
3. (A). @), (B). (C)

[Option ID = 2323]
4. (D), (B), (C), (A)

[Option ID = 2324]

77) Identify the correct sequence of activities to collect objects by a museum

(A)  Ewaluate proposal

(B)y  Obtain title to the ohject and recording copyright
(C)  Plan for the arrival of objects

(I Make a case for the proposal of acquisition

(E) Give a unique number to each object

Chooze the correct sequence from the options given below -
HIEed G SLad % wyE 9 v Teareed & wd W = v it

(A) A" geAE &=

(B) =Eg % Tou m wm w2 o S = S
(C)  =xged = o= 1 Ji= a7

D) it = FEE F THA AW

(By wr= =03 = Tl v=m e =

fom 70 e @ F =8 3 o 99 S

[Question ID = 582][Question Description = 177_66_Museology_SEPT22_Q77]
1. (D). (A), (B). (C), (B)

[Option ID = 2325]
2. {B), (E). (C), @), (&)

[Option ID = 2326]
3. (E), (C), (A), (B), (D)

[Option ID = 2327]
4 @), (B, (A), (B). (O

[Option ID = 2328]
78) Identify the correct sequence of stages proposed by Fleming in his model for object study
{A)  Evaluation
(B)  Identification
(C)  Interpretation
(D) Cultural analysis

Choose the correct answer from the options given below :



AT GRS TS9EE o WTEe o RT3 4 10 % wE w0 o U e
(&) A

B) vEEFT

(C) wamEn w0

D) i R

H= fon 1o fomat § 9§ 99 T = =T At

[Question ID = 583][Question Description = 178_66_Museology_SEPT22_Q78]
1. (A, (B). (D). (C)

[Option ID = 2329]
2. (B), (A). (C). D)

[Option ID = 2330]
3. (B) (A (D). (O

[Option ID = 2331]
4. (B), (C). (D), (A)

[Option ID = 2332]
79) Tdentify ths correct sequence of the following steps involved in applying the Cloze test:
(&)  Delete every fifth word and replace it with a blank
(B)  Selectapassage
(C)  Score 1 for each word correctly filled
(D)  Caleulate percentage of correctly filled-in words

(E)  Show this to a sample of visitors and ask them to fill-in nyissing words

Choose the correct answer from the options given below -
FeiT= Tz & AT § WiHe Fefatas S & w6 w6 Eee S
(A)  weE T T S B O AN 9E TE w ® HiEe
B) Tl = e
€ wEsTdwmmsEs e o
(D) w# ut ey o wfqerae Fere

(E) =migst % atdcal =1 & fo@m 3 52 @l ™M % 9 e ¥ 9 % fo s

feu o el § 9w w9 s w9 il

[Question ID = 584][Question Description = 179_66_Museology_SEPT22_Q79]
1. (A), (B), (C). (D).(E)

[Option ID = 2333]
2. (B).{(A). (E), (CL(D)

[Option ID = 2334]



3. (B), (A), (D), (C). (E)

[Option ID = 2335]
4. (A), (By, (D), (Ex(C)

[Option ID = 2336]

80) Which of the following is the correct order of Bloom's Taxonomy of Education Objectives?

(A
(B}
()
D)

Evaluation
Comprehension
Knowledge
Analysis

Choose the correct answer from the options given helow -

=g A & e F S+ A A e = |

(A) TeEEe

B) =g

€ =

(D) T

g5 feo e © € B 3w =5 il

[Question ID = 585][Question Description = 180_66_Museology_SEPT22_Q80]
1. (A), (C). (B), @)

[Option ID = 2337]
2. (D, (A). (C), (B)

[Option ID = 2338]
3. (), (B), (D). (A)

[Option ID = 2339]
4. (B), (C). (&), (D)

[Option ID = 2340]

81) Idantifir the correct sequence of the steps required for the transportation of artifacts

(AA)
(B)
(C)

(D)

(E)

Packing and then transportation to the host institution
Making a list along with the condition report of each and every artifact.

Signing by the host mstitution on the condition report prepared by the lending
institution in the presence of lending imstitution’s representative.

Getting the insurance value for each and every art work through a duly appointed
committee by the competent authority of the lending institution.

Insurance of the exhibits.

Choose the correct answer from the options given below -



TSI & TEn = e FHEd T R e W e

(&) e oAt e A = e |
B) W Foe # @iy gt fod = aw-Tw @ 5= ey

(C) =vrrar wear & wiaita $1 3v@afs § o e go fan 6 0 @l ol w Tees seE
T T |

(D) swErar sov % agn wiasd g ot =y 4 Fags el $ oo | as e w0 dm
e T

(D) s = T e |

S fom o et § 9§ W T 9 =99 #ha

[Question ID = 586][Question Description = 181_66_Museology_SEPT22_Q81]
T (A), (B, (C). (B), D)

[Option ID = 2341]
2. (B), (C). (D). (E), (&)

[Option ID = 2342]
3. (B). (D), (E), (AL (©)

[Option ID = 2343]
4. (C), (B). (D). (E). (&)

[Option ID = 2344]
82) TIdentify the correct sequence of the following steps involved in plastic embedding:
(4) Embedding
(B)  Preservation/dehvdration
(C)  Fixing in position
(D)  Nareotization

(E)  Collection

Choose the cerrect answer from the options given below :
wHITC SATSN & EreEn H F w6 w5 H T w1
(A) serEw
(B) wEm/ e
(C)  TefEET = it
D) =

(E) wmr =

et fo oy et # 6 wod Sugw w0 o = EifE

[Question ID = 587][Question Description = 182_66_Museology_SEPT22_Q82]
1. (A), (B), (C), (D), (E)

[Option ID = 2345]
2. (E). D). (C). (B). (A)



[Option ID = 2346]
3. (E), (B, (©), @), (&)

[Option ID = 2347]
4. (A (C). (D). (B (E)

[Option ID = 2348]
83) Which of the following is the correct sequence of the following steps followed in CPM?

{A) Compute the longest time path through the network

(B}  Prepare the work breakdown structure

{(C)  Assign time and/or cost estimates to each activity on the network
(D)  Develop the relationship among the activities

(E)  Draw the network connecting all the activities

Choose the correct answer from the options given below :
i # wrem fore o o Fefetas =07 % w8 w0 Fefetes § 9 we-9 37
(A) = & eA0 # Te9 o9 T W S HE w6
(B) = T Tt Aan S
(C)  remd m yris iRy & fore wmg o Pt w /s 5 e = |
(D)  iatafeal % = w=y fawhE ==
(B) =i niatates =1 e o Jeae $1 =0 0

e Tem u famedt § & wdl 390 9 =9a i

[Question ID = 588][Question Description = 183_66_Museology_SEPT22_Q83]
1. (B), (D). (E), (C), (A)

[Option ID = 2349]
2. (B), (E)(C). D). &)

[Option ID = 2350]
3. (B). (D), (C). (A), (E)

[Option ID = 2351]
4. (B). (A), (E), (C), (D)

[Option ID = 2352]

84) Which of the following is the correct sequence of consumer readiness states ultimately leading
to purchase behavior?

4) Enowledge
(B) Liking

(C)  Awareness
(D) Conviction

(E) Preference

Choose the correct answer from the options given below -



Pt 4 o S—g7 Suwes &7 a0+ Bt & 98 F02 F Si90 9l sgeen § i 2w
A =
B T

(C)  Frme=a

(D) wiwEga
(E)  wfemmm
$= fom e foret F & ot 3w =g S

[Question ID = 589][Question Description = 184_66_Museology_SEPT22_Q84]
1. (B, (4), (C). M), (B)

[Option ID = 2353]
2. (E). (B). (A). (D). (O

[Option ID = 2354]
3. (C), (A), (E), (B), (D)

[Option ID = 2355]
4. (C). (A (B), (E). (D)

[Option ID = 2356]
85) Which of the following is the correct chronological sequencs of the following?
(A) UNEESCO World Heritage Convention

(B) The Convention on International Trade in Endancered species of Wild Flora and
Fauna (CITES)

(C)  Venice Charter

(D) The UNESCO Convention for the Safeguarding of the Intangible Cultural Heritage

Choose the correct answer from the options given below

Frfifian # 2 58 TR w8 ST

@) e ard e S

(B) =es A WE W F Haard e i sl s woaa (dersiim)
(Cy fFm =rd

D g wiogfas #s f odye i g Saee

o Towedt ¥ HE 39 I A

[Question ID = 590][Question Description = 185_66_Museology_SEPT22_Q85]
1. (C), (A). (B). (D)

[Option ID = 2357]
2. (Cy. (A), D, (B)



[Option ID = 2358]
3. (A), (B), (D). (O

[Option ID = 2359]
4. (C), (D), (B), (A)

[Option ID = 2360]

86) Given below are two statements - One is labelled as Assertion (A) and the other is labelled as
Reas=on (R) -
Aszertion (A):  CITES was conceived in the spirit of International cooperation
Reasons (R) - Trade in wild animals and plants crosses borders between countries.

In the light of the above Statements, choose the most appropriate answer from the options
miven helow :

et w5t s fe e # men s w o R sy A foam T R

4T (A) - T s 4 S TE T I SR FEa e H g |
v (R) - Arses WHETE TS THeE H i s e & 9 T |
w3 fo © & Fofafer 1 2 98 s = s =
[Question ID = 591][Question Description = 186_66_Museology_SEPT22_Q86]
1. Both (4) and (R} are true and (R) is the correct explanation of (A)
(&) 3l (R) o =dl £ afft (R), (A) =1 w8 =ame 2|

[Option ID = 2361]
2. Both (A) and (R) are true but (R} is NOT the correct explanation of (4)

(&) 3t Ry o = &, ST R), (A) F o7 sqrEm 5E 2

[Option ID = 2362]
3. (A} is true but (R) is not false

(A)=# B, wie (R) =8 78 2

[Option ID = 2363]
4. (A) i= false but (R) is true

(A) =8 3 2, wif Ry = 2

[Option ID = 2364]

87) (ven below are two statements : One is labelled as Assertion (A) and the other 15 labelled as
BReasen (R) :

Assertion (A) -  Members of staff and visitors should sign in and out as they enter and leave

the non-public areas of & museum.

Reasons (R) : So that a record of people who visit non-public areas is maintained.

In the light of the above statements, chooze the correct answer from the options given below -



iﬁﬁw%ﬂﬂﬂ.é:Em(ﬂsserﬁnnA)iﬂﬁ%ﬁsﬂé?ﬁwﬁm {Re&snnﬂ}%

ey d
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[Question ID = 592][Question Description = 187_66_Museology_SEPT22_Q87]
1. Both (4) and (R} are true and (R) is the correct explanation of {A)

(A) 3 (R) 21w # 2 (R), (A) 3 7l =men 2

[Option ID = 2365]
2. Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(A) 3l (R) o = €, = (R), (A) =1 =4t woresn 5 21

[Option ID = 2366]
3. (A} is true but (R) is not false

(A) = B, #FA (R) 78 7 21

[Option ID = 2367]
4. (A) ic false but (R) is true

(A) =8 = 2, wif R) =8 21

[Option ID = 2368]

88) (Given below are two statements : One i= labelled as Assertion (A) and the other is labelled as
Reason (B)

Assertion (A) - It i= difficult to remove tidelines from a textile.

Reasons (R) - It i= not known exactly what is the process of forming of the tidelines.

In the light of the above statements, choose the most appropriate answer from the options
mven below :
:ﬁ%ﬂ Tﬂiﬁ'ﬁ'{m{% : T e (Assemonﬂ}é;ﬁﬁﬁf\@?r%?ﬁwmm (Reason R) =
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[Question ID = 593][Question Description = 188_66_Museology_SEPT22_Q88]
1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

(A) ettt (R) 2w € e (R), (A) =1 wE wamem 2

[Option ID = 2369]
2. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(A) ot (R) = = #, =T (R), (A) 1 79 s 54 2

[Option ID = 2370]
3. {A) 1s correct but (R) is not correct

(A)y=d B, =i (R) o8 T8 &



4.

[Option ID = 2371]
{A) 1= not correct but (R) 1s correct

(A) =6 =8 2, wf= R) =8 3

[Option ID = 2372]

89) Given below are two statements : Ongsis laballed as Assertion (A) and the other is labelled a=

Reason (B) :

Assertion (A): When packing ohjects in Bubble wrap, the bubbles should always face
away from the ohjects.

BResszons= (R) - It helps in protection from fumes emanated by bubble wrap.

In the light of the above statements. choese the most appropriate answer from the options

given below -
dr= & = fgg e & ¢ w arfieea (Assertion A) % 9 ¥ fHfigg 2 9t g 9% =07 (Reason R) 5
B
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[Question ID = 594][Question Description = 189_66_Museology_SEPT22_Q89]

1.

Both (A) and (B) are correct and (R) is the correct explanation of (A)
(A) 3t (R) = 7 # o (R), (A) 5 7 =mem 2

[Option ID = 2373]

- Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(Ay =it (R) = w8 £, S R), (A) o sqvem 58 2

[Option ID = 2374]

- {A) i=s correct but (R) is not correct

(A)=# 3, =i (R) = 8 2|

[Option ID = 2375]
{A) iz not correct but (R) is correct

(A) =8 3 2, wif R) = 2

[Option ID = 2376]

90) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reason (R) -

Assertion (A): A museum built by and managed by the community of a particular territery

1z-called an eco-museum.

Reasons (R) - It exhibits the ecology of the territory.

In the light of the above statements, choose the correct answer from the options given below -



dra g weg Ton o ;U afieEs (Assertion A)% w9 d fafad # A w80 5895 =00 (Reason R) 5
Eqﬁ %
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[Question ID = 595][Question Description = 190_66_Museology_SEPT22_Q90]
1. Both (4) and (R} are true and (R) is the correct explanation of {A)
(&) 3tk (R) 24 w1 £ ofh (R), (A) &1 w8 == 2

[Option ID = 2377]
2. Both (A) and (R)are true but (R) is NOT the correct explanation of (A)

(A) 3l (R) o =t €, S (R), (A) =1 =4t oo 5 21

[Option ID = 2378]

- {A) 1= true but (R) is not false

(&)= B, ®A (B) 78 T 21

[Option ID = 2379]

- (A) i= false but (R) is true

(A)y =8 74 2, == (R) =8 21

[Option ID = 2380]

Topic:- 066_SEPT22_S1_PartB

1) Read the following passage and answer the guestions

Like all complex institutions teday, museums require planming if they are to meet both the
demands within their walls — the inherently gprowing collections — and the changing needs of
their public. both actual and potential New museums, or museum sxpansions, relocations or
renovations make these planning needs explicit. and then provide a result (often all too
concrete) in which the nature and limitations of the plannming process in that institution are
revealed

Museum planning should be a continuous process, in which the corporate plan is periodieally
reviewed to mest the changing needs of the institution and its community. Instead. museums
often seek to plan hurriedly and out of a sense of urgency cccasioned by pressing space
constraints, the glaring inadequacy of facilities, or an unexpected opportunity to expand

The conventional response has been to call in an architect. Many trust or board members and
even museum professionals assume that an architect will know how to plan a museum. and
many architects are delighted to be given the opportumity. Yet when one considers the
growing sophistication of the museum as a building type, not te mention complex
non-architectural issues such as an institution’s mandate and its relationship with its
changing community and its market — issues that are often vital to the planning process —
it is evident that even the most sympathetic architect cannot be expected to be sufficiently
knowledgeable to do the museum planning as well as his or her own professional work

Anpther response has heen eclecticism. based on the premise that what works well in one
museum should work equally well in ancther Sc we see a skylight control system transposed
from a temperate climate to a much colder northern one, with the ensuing leaks and buckets.
Or a high-tech display technique is installed where it is not justified by the market or ean't be
cost-effectively maintained. Clearly, it is always useful to consider good ideas from elsewhers,
but the unique needs of each collection, each institution and each community must be
understood before its facilities can be planned.
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The tone of the author of the passage in the first sentence ("Like all __ and potential™) is best
described as:
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[Question ID = 596][Question Description = 191_66_Museology_SEPT22_Q91]
1.

Didactie
ITEITEF (DEfEeE)

[Option ID = 2381]
- Emphatic

T ()

[Option ID = 2382]
- Noztalgic

TR (A )

[Option ID = 2383]
- Optimistic

e ( SamEEE)

[Option ID = 2384]



2) Read the following passage and answer the questions

Like all complex institutions today, museums require planming if they are to meet both the
demands within their walls — the inherently growing collections — and the changing needs of
their public. both sctual and potential New museums. or museum expansions, relocations or
renovations make these planning needs explicit, and then provide a result (often all too
concrete) in which the nature and limitations of the planming process in that institution are
revealed

Museum planning should be a continuous proeess, in which the corporate plan is periodieally
reviewed to mest the changing needs of the institution and its community. Instead. museums
often seek to plan hurriedly and out of a sense of urgency occasioned by pressing space
constraints, the glaring inadequacy of facilities, or an unexpected opportunity to expand.

The conventional response has been to call in an architect Many trust or board members and
even museum professionals assume that an architect will know how to plan a museum. and
many architects are delighted to be given the opportunmity. Yet when one considers the
growing sophistication of the museum as a building type, not to mention complex
non-architectural issues such as an institution’s mandate and its relationship with its
changing community and its market — issues that are often vital to the planning process —
it is evident that even the most sympathetic architect cannot be expected to be sufficiently
knowledgeable to do the museum planning as well as his or her own professional work.

Another response has been eclecticism, based on the premise that what works well in one
mugeum should work equally well in ancther. So we see a shkylight control system transposed
from a temperate climate to a much colder northern one. with the ensuing leaks and buckets.
Or a high-tech display techmque 1s installed where 1t 15 not justified by the market or ean't be
cost-effectively maintained. Clearly, it is always useful to consider good ideas from elsewhere,
Init the unique needs of each collection, each institution and each community must be
understood before its facilities can he planned.
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The passage suggests that museum planning should be an ongoing process in which corporate
plan



[Question ID = 597][Question Description = 192_66_Museology_SEPT22_Q92]
1. takes long term view of the entire organization

o R W Gt g w2

[Option ID = 2385]
2. is reviewed and revised every six month

& e o R W wHE ity S 2

[Option ID = 2386]
3. unites all the funetional units around a long-term vision

e FrtaE s W defafes e # o w2

[Option ID = 2387]
4. responds to the changing needs

el Sl % T St S R

[Option ID = 2388]

3) Read the following passage and answer the questions

Like all complex institutions today, museums require planning if theyr are to meet both the
demsands within their walls — the inherently growing collections — and the changing needs of
their public, both actual and potential New museums, or museum expansions, relocations or
renovations make these planning needs explicit, and then provide a result (often all too
concrete) in which the nature and limitations of the planmine process in that institution are
revealed

Museum planning should be a continuous proeess, in which the corporate plan is periodieally
reviewed tp meet the changing needs of the institution and its community. Instead. museums
often seek to plan hurriedly and out of a sense of urgency occasioned by pressing space
constraints, the glaring inadequacy of facilities. or an unexpected opportunity to expand.

The conventional response has been to eall in an architect Many trust or board members and
even museum professionals assume that an architect will know how to plan a museum. and
many architects are delighted to be given the opportumity. Yet when one considers the
growing sophistication of the museum as a building type, not to mention complex
non-architectural iszues such as an institution’s mandate and its relationship with its
changing community and its market — issues that are often vital to the planning process —
it is evident that even the most sympathetic architect cannot be expected to be sufficiently
knowledgeable to do the museum planning as well as his or her own professional work

Angthier response has been eclecticism, based on the premise that what works well in one
museum should work equally well in ancther. So we see a skylight control system transposed
from a temperate climate to a much colder northern one, with the ensuing leaks and buckets.
Or a high-tech display techmque is installed where 1t 15 not justified by the market or ean't be
cost-effectively maintained. Clearly, 1t is always useful to consider good ideas from elsewhere,
it the unique needs of each collection, each institution and each community must be
understood before its facilities can be planned.
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Which of the following can be inferred from the passage?
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[Question ID = 598][Question Description = 193_66_Museology_SEPT22_Q93]
1.

Architects are competent enough to do museum planning.
FEGET FIGEE TS = (o TE T W 66 5 7

[Option ID = 2389]
Museum planning means planning the building of the museum.

HURT WA 1 2® 3 Beed = 96 #4519

[Option ID = 2390]
- Museum planning includes architectural and non-architectural issues.

HIRTEA FES § AT ue e e e |

[Option ID = 2391]
- Museum planning is a matter of urgency.

TR WSS AT = o 2

[Option ID = 2392]



4) Read the following passage and answer the guestions

Like all complex institutions today, museums require planming if they are to meet both the
demands within their walls — the inherently growing collections — and the changing needs of
their public. both sctual and potential New museums. or museum expansions, relocations or
renovations make these planning needs explicit, and then provide a result (often all too
concrete) in which the nature and limitations of the planming process in that institution are
revealed

Museum planning should be a continuous proeess, in which the corporate plan is periodieally
reviewed to mest the changing needs of the institution and its community. Instead. museums
often seek to plan hurriedly and out of a sense of urgency occasioned by pressing space
constraints, the glaring inadequacy of facilities, or an unexpected opportunity to expand.

The conventional response has been to call in an architect Many trust or board members and
even museum professionals assume that an architect will know how to plan a museum. and
many architects are delighted to be given the opportunmity. Yet when one considers the
growing sophistication of the museum as a building type, not to mention complex
non-architectural issues such as an institution’s mandate and its relationship with its
changing community and its market — issues that are often vital to the planning process —
it is evident that even the most sympathetic architect cannot be expected to be sufficiently
knowledgeable to do the museum planning as well as his or her own professional work.

Another response has been eclecticism, based on the premise that what works well in one
mugeum should work equally well in ancther. So we see a shkylight control system transposed
from a temperate climate to a much colder northern one. with the ensuing leaks and buckets.
Or a high-tech display techmque 1s installed where 1t 15 not justified by the market or ean't be
cost-effectively maintained. Clearly, it is always useful to consider good ideas from elsewhere,
Init the unique needs of each collection, each institution and each community must be
understood before its facilities can he planned.
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The author refers to “skylight control system” in order to
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[Question ID = 599][Question Description = 194_66_Museology_SEPT22_Q94]
1.

explain that what works well in one museum should work equally well in another

7% sared] w # (o 5 o e = qumen § o= ¥ = =l ax @ wareen 4 ot gse 5
FT|

[Option ID = 2393]

- demonstrate the use of technology in museums.

wgrer § Wit @ 3w gt 2 )
[Option ID = 2394]
illustrate the need to understand unique requirement of 8 museum in planning,

o % SO WOEe S SR - S S S qevaE w1 o i S w0 1 |

[Option ID = 2395]
compare technological requirements of museums 1n two different chmatic zones:

9 =1 Sman 497 9 seed Al st i ge s

[Option ID = 2396]

5) Read the following passage and answer the questions

Like all complex institutions teday, museums require planming if they are to meet both the
demands within their walls — the inherently growing collections — and the changing needs of
their public, both actual and potential New museums, or museum expansions, relocations or
renovations make these planning needs explicit, and then provide a result (often all too
concrete) in which the nature and limitations of the planmng process in that institution are
revealed.

Museum planning should be a continuous process, in which the corporate plan is periodieally
reviewed to meet the changing needs of the institution and its community. Instead. museums
often seek to plan hurriedly and out of a sense of urgency occasioned by pressing space
constraints, the glaring inadequacy of facilities. or an unexpected opportunity to expand.

The conventional response has been to call in an architect. Many trust or board members and
even museum professionals assume that an architect will know how to plan a museum. and
many architects are delighted to be given the opportunity. Yet when one considers the
growing sophistication of the museum as a building type, mot te mention complex
non-architectural issues such as an institution’s mandate and its relationship with its
changing commumity and its market — issues that are often vital to the planning process —
it is evident that even the most sympathetic architect cannot be expected to be sufficiently
knowledgeable to do the museum planning as well as his or her own professional work.

Angther response has been eclecticism, based on the premise that what works well in one
museum should work equally well in ancther. So we see a skylight control system transposed
from a temperate climate to a much colder northern one. with the ensuing leaks and buckets.
Or a high-tech display techmque is installed where 1t 1s not justified by the market or ean't be
cost-effectively maintained. Clearly, it is alway= useful to consider good ideas from elsewhers,
but the unique needs of edch collection, each institution and each community must be
understood before its facilities can be planned.
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The author of the passage
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[Question ID = 600][Question Description = 195_66_Museology_SEPT22_Q95]
1. enumerates the limitations of eclecticism

Sgard sfafem i Hmad = =

[Option ID = 2397]
2. rejacts the use of eclecticism

TS I W SEEE w0 f |

[Option ID = 2398]
3. explains the importance of eclecticism

IETETE % TR 1 ST w0

[Option ID = 2399]
4. recommends the use of eclecticism with caution
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[Option ID = 2400]

Topic:- 066_SEPT22_S1_PartC



1) Read the following passage and answer the next five questions:

It is, in 1tself, advantageous to transfer traditional knowledge, materials and conservation
methods to people with little or no aceess to conservation facilities However, the BCO has
taken this one step further by developing those traditional methods into industry-grade
formats, such as essential oils. Such research was featured i1n the International Conference
Museum of our own: In search of Local Museclogy in Asia™ The presentation focused on three
essential oils-all of which was made from cloves leaf black pepper, and citronella that have
been scientifically shown to conserve a wide range of cultural heritage materials as biocides
due to their antifungal and anti-termite properties. Other materials are =till undergoing
research and development.

The BCO also presentad their work and engagements with academir institutions and industry
and industry in the webinar entitled WNew Innovation Formula fto Eradicate Deteriorating
Organisms for Cultural Heritage:Preservation with Essential Oils" in May 2020.

The webinar invited two speakers. one of which was Dyah Yekti Indrajati a scientist and
essential oils entrepreneur. Indrajati highlighted that Indoneisa-a global manufacturer of
eszential oils-could also produce essential oils designed for conservation. She mentioned her
community-university engagement project where che had sn experiment to treat lichen on the
BDIobudufs_ stone surface using various percentagesof cloves leaf essential oil and a distilled
water solution emulsified with Tween 80 (polysorbate 80). Another comprehensive experiment
also was under taken using citronella-based essentials oil using the same methods. which
proved to be a sucecessful growth inhibitor for lichen However, further investigation is needed
regarding the role of Tween 80, because thiz emulsifier, not only plays a rolé in mixing the
essential oil with water, but also has antimicrobial properties and a study savs it actually

reduces the antibacterial efficacy of essential oil
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Biocides are materials which can perform the following function™
arTaTEEE U e 2, = Pt v w1 &
[Question ID = 601][Question Description = 196_66_Museology_SEPT22_Q96]
1. Traditionally used for cleaning the surface
A B § TOE F AT = § TN T f
[Option ID = 2401]
2. In modern times they give polised surface

S T 1 @ ST Sae 0eA w9 5 |

[Option ID = 2402]
3. They are ecologically friendly

% S feds 76 ¢ |

[Option ID = 2403]

They kll micro-crganizms

% gEg—ial (wrEE ) F A A f |

[Option ID = 2404]



2) Read the following passage and answer the next five questions:

It is in 1tself, advantageous to transfer traditional knowledge, materials and conservation
methods to people wath hittle or no access to conservation facilities However, the BCO has
taken this one step further by developing those traditionsl methods into industry-grade
formats, such as essential oils. Such research was featured in the International Conference
Museum of our own: In search of Local Museclogy in Asia™ The presentation focused on three
eszsential oils-all of which was made from cloves leaf black pepper, and citronella that have
been scientifically shown to conserve a wide range of cultural heritage materials as biocides
due to their antifungal and anti-termite properties. Other materials are still undergoing
research and development.

The BCO also presented their work and engagements with academir institutions and industry
and industry in the webinar entitled Wew Innovation Formula to Eradicate Deteriorating
Organisms for Cultural Heritage:Preservation with Eszential Oils" in May 2020.

The webinar invited two speakers, one of which was Dyah Yekti Indrajati a scientist and
essential oils entrepreneur. Indrajati highlichted that Indoneisa-a global manufacturer of
essential cils-could also produce essential oils designed for conservation She mentioned her
community-university engagement project where she had an experiment to treat lichen on the
Borobudur's stone surface using various percentagesof cloves leaf essential oil and a distilled
water solution emulsified with Tween 80 (polysorbate 80). Another comprehensive experiment
also was under taken using citronella-based essentials oil using the same methods. which
proved to be a successful growth inhibitor for lichen However. further investigation is needed
regarding the role of Tween 80, because thiz emulsifier, not only plays & role in mixing the
essential oil with water, but also has antimicrobial properties and a study savs it actually

reduces the antibacterial efficacy of essential ail
forfetas e = TER T E I R
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As per the passage essential oils are obtained from which of the following plants?
TEETE ¥ AT #Ed gw e d 1 e e 2 am e &

[Question ID = 602][Question Description = 197_66_Museology_SEPT22_Q97]
1. Lemon grass, cloves and turmeric

T WA, R (W) T wee

[Option ID = 2405]
2. Citronella. clove leaf and black pepper

Forgiren, st = =% ot el fis
[Option ID = 2406]
3. Cinnamon leaf citronella and black pepper

R 1 e 0 Pt e e o e

[Option ID = 2407]
4. Black eummin, citronella and cloves leaf

[Option ID = 2408]



3) Read the following passage and answer the next five questions:

It is, in 1tself advantaseous to transfer traditional knowledge, materials and conservation
methods to people wath hittle or no access to conservation facilities However, the BCO has
taken this one step further by developing those traditional methods into industry-grade
formats, such as essential oils. Such research was featured in the International Conference
Museum of our own: In search of Local Museclogy in Asia”™ The presentation focused on three
essential ocils-all of which was made from cloves leaf black pepper, and citronella that have
been scientifically shown to conserve a wide range of cultural heritage materials as biocides
due to their antifungal and anti-termite properties. Other materials are still undergoing
research and development.

The BCO also presented their work and engagements with academir institutions and industry
and industry in the webinar entitled New Innovation Formula fo Eradicate Deteriorating
Organisms for Cultural Heritage:Preservation with Eszential Oils" in May 2020.

The webinar invited two speakers, one of which was Dyah Yekti Indrajati a scientist and
essential cils entrepreneur. Indrajati highlighted that Indoneisa-a global manufacturer of
ezsential ocils-could also produce essential oils designed for conservation She mentioned her
community-university engagement project where she had an experiment to treat lichen on the
Borobudur's stone surface using various percentagesof cloves leaf essential oil and a distilled
water solution emulsified with Tween 80 (polysorbate 80). Another comprehensive experiment
also was under taken using citronella-bazed essentials oil using the same methods. which
proved to be a successful growth inhibitor for lichen However, further investigation is needed
regarding the role of Tween 80, because thi= emulsifier, not only plays a role in mixing the

essential oil with water, but also has antimicrobial properties and a study savs it actually

reduces the antibacterial efficacy of essential il
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Which of the following were used in the experiment to kill lichens mentioned in the passage?
S W AT % few e e e sveE % EEn e g # T s s wem § fe e 2

[Question ID = 603][Question Description = 198_66_Museology_SEPT22_Q98]
1. Clove leaf and citronella oil mixed with distilled water and emulsifving agent

tn F 9 Al B ¥ T W W W o e welen afies 3 oaw wEm
FE W
[Option ID = 2409]
2. (Clove leaf and citronella oil mixed with just distilled water
wim % wite frgeen o9 % e wEs 5, F 9 feE w
[Option ID = 2410]
3. Clove leaf and citronella oil mixed with distilled water and detergent of pH 2

W % o o frgEen G = S e we i pHY aret faese % w9 e w

[Option ID = 2411]
4. Clove leaf and citronella oil mixed with distilled water and tespol
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[Option ID = 2412]

4) Read the following passage and answer the next five questions:

It is, in 1tself, advantageous to transfer traditional knowledge, materials and conservation
methods to people with hittle or no access to conservation facilities However, the BCO has
taken this one step further by developing those traditional methods into industry-grade
formats, such as essential oils. Such research was featured 1n the International Conference
Museum of our own: In search of Local Museclogy in Asia™ The presentation focused on three
essential oils-all of which was made from cloves leaf black pepper, and citronella that have
been scientifically shown to conserve a wide range of cultural heritage materials as biocides
due to their antifungal and anti-termite properties. Other materials are still undergoing
rezearch and development.

The BCO also presented their work and engagements with academir institutions and industry
and industry in the webinar entitled Wew Innovation Formula fo Eradicate Deteriorating
Organisms for Cultural Heritage:Preservation with Eszential Oils'in May 2020.

The webinar invited two speakers, one of which was Dyah Yekti Indrajati a scientist and
essential oils entrepreneur. Indrajati highlighted that Indoneisa-a global manufacturer of
essential cils-could also produce essential oils designed for conservation She mentioned her
community-umiversity engagement project where she had an experiment to treat lichen on the
Bombuliufs_ stone surface using various percentagesof cloves leaf eszential oil and a distilled
water solution emulsified with Tween 80 (polvsorbate 80). Another comprehensive experiment
also was under taken using citronella-based essentials oil using the same methods. which
proved to be a successful growth inhibitor for lichen However, further investigation is needed
regarding the role of Tween 80, because thiz emulsifier, not only plays a roleé in mixing the
essential oil with water, but also has antimicrobial properties and a study savs it actually

reduces the antibacterial efficacy of essential oil
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Which of the following statements the author of the passage i= most likely to agree with?
T NGAT % s B 1A R e U £ Taash g wed o g 27

[Question ID = 604][Question Description = 199_66_Museology_SEPT22_Q99]
1. Traditional methods are time tested and should be used without experiment

TR WVITE] WA % A TS w4 2 aft e seaTe fe we = e = wwa 2

[Option ID = 2413]
2. Traditional methods/materials derived through industrial production may be used.

siteaiTTe Seare % Hien = WH graiE YOt A S 39 | = =

[Option ID = 2414]
3. Use of citronella and cloves leaf will eradicate all sorts of micro-organisms

Tz ot <1 o = 3w @ B wEn = g S = e e o)

[Option ID = 2415]



4. Tween 20 has synergistic effect with biocides

HA-20 F1 TS % g s saE 2

[Option ID = 2416]

5) Read the following passage and answer the next five questions:

It is;-in itself advantageous to transfer traditional knowledge, materials and conservation
methods to people wath hittle or no aceess to conservation facilities However, the BCO has
taken this one step further by developing those traditional methods inte industry-grade
formats, such as essential oils. Such research was featured in the TInternational Conference
Museum of our own: In search of Local Museclogy in Asia™ The presentation focused on three
essential oils-all of which was made from cloves leaf black pepper, and citronella that have
been scientifically shown to conserve a wide range of cultural heritage materials as biocides
due to their antifungal and anti-termite properties. Other materials are still undergoing
research and development.

The BCO also presentad their work and engagements with academir institutions and industry
and industry in the webinar entitled WNew Innovation Formula to Eradicate Deteriorating
Organisms for Cultural Heritage:Preservation with Essential Oils" in May 2020.

The webinar invited two speakers. one of which was Dyah Yekti Indrajati, a scientist and
essential oils entrepreneur. Indrajati highlighted that Indoneisa-a global manufacturer of
eszential ocils-could also produce essential oils designed for conservation She mentioned her
community-university engagement project where she had an experiment to treat lichen on the
BDIobudufs_ stone surface using various percentagesof cloves leaf essential oil and a distilled
water solution emulsified with Tween 80 (polysorbate 80). Another comprehensive experiment
also was under taken using citronella-based essentials pil using the same methods. which
proved to be a sucecessful prowth inhibitor for lichen However, further investigation is needed
regarding the role of Tween 20, because thi= emulsifier, not only plays & role in mixing the
essential oil with water, but also has antimicrobial properties and a study savs it actually

reduces the antibacterial efficacy of essential oil
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In which of the following programmes BCO shared findings of their collaboration with
industry and institutions
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[Question ID = 605][Question Description = 200_66_Museology_SEPT22_Q100]
1. A symposium
Forcaifemm d
[Option ID = 2417]
2. A webinar
Ao &
[Option ID = 2418]
3. A seminar



wfr g
[Option ID = 2419]
4. A conference

e
[Option ID = 2420]

Topic:- GP_22SEPT22_SH1_S1_PartA

1)

The following table shows the details about (i) the number of students studying in five
different classes A-E of a school. and (11) participating neither in chess nor in carrom (iii) the
ratio of students who participate in Chess to Carrom. The remaining students play either
chess or carrom. Based on the data in the table answer questions 1-5:

(Class-wise Participation in Games

Number of Students | Ratio of Students
Total Number | . L C e
Class of Shrdents without participation | participating in

' N in both the games Chess to Carrom
A 420 119 4:3
B 330 88 7:4
C 240 110 8:5
D 125 45 9:3
E 390 130 8:5

faforfiaa aiferen @ ves famem & afg fa-fag s 9 @) s Gl ) gen, 35 (@) 33
ferenfd i <t deen o A oS 0 9 o B W 9 A Fu O, S (uh) TS d um oF 9 faenfd
Fq Wer ael faenfda 8 sum wad e fo o 21 9w faeed 3 A o e 2 3 3 # S
Aferes U 2121 @& STER W Y9 1-5 39 gt

shefl 41 Wl 4 YR

. .| 21 @i 8 e apied e | S aen § s §
@an | Fornrfeen & oe #@en | Frenferai ;i;;n & ﬁ?!ﬁq?ii’ﬁ =1 AT
A 420 119 A4
B 330 88 iz
c 240 110 i
D 125 45 2:3
E 390 130 e

What is the total number of students participating in Chess from B. C and E togethexr?

B. C 3% E & fucie smis § um & 72 foenfi= & oa g = 27

[Question ID = 906][Question Description = 101_00_General_13_SEPT22_Q01]



370

[Option ID = 3621]

2. 394

[Option ID = 3622]

3. 268

[Option ID = 3623]

4270

[Option ID = 3624]

2)

The following table shows the details about (i) the number of students studying in five
different classes A-E of a school. and (ii) participating neither in chess nor in carrom (iii) the
ratio of students who participate in Chess to Carrom. The remaining students play either

chess or carrom. Based on the data in the table answer questions 1-5:

(Class-wise Participation in Games

Number of Students | Ratio of Students
Total Number | . L C e
Class of Shrdents without participation | participating in

' N in both the games Chess to Carrom
A 420 119 4:3
B 330 88 7:4
C 240 110 8:5
D 125 45 2:3
E 390 130 8:5

fafrfiaa aiferen O uss faem & afg fa-fag s 9 @) S Gl ) gen, 35 (@) 3@
ferenfd i <t wwn ot A ow 0 9 o B 3R A A O, S (uh) yets d um o1 9 faenfd
Fg W 9l faeE 8 s dad e fon o 21 9w feeed 3 oA e e @ 3 3 # Fm
Aferer U 2121 @& STER W Y9 1-5 & 39 gt

-4 "eAl 4 YEiTer]

A : a4l @l § fam aefrerfl @@ | 3w ) oo 8 s 4 um
el | Tl 1 5 WM | T i o e 3 S Rt e
A 420 119 4:3
B 330 a8 7:4
C 240 110 8:5
D 125 45 2:3
E 390 130 85

What is the ratio of students participating in Carrom from B and C together to the students

participating in Chess from A and D together?
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[Question ID = 907][Question Description = 102_00_General_13_SEPT22_Q02]

. 19:35

[Option ID = 3625]
2. 90:37

[Option ID = 3626]
3. 923:34

[Option ID = 3627]
4 22:35

[Option ID = 3628]

3)

The following table shows the details about (i) the number of students studying in five
different classes A-E of a school. and (ii) participating neither in chess nor in carrom (iii) the
ratio of students who participate in Chess to Carrom. The remaining students play either

chess or ecarrom. Based on the data in the table answer questions 1-5:

(Class-wise Participation in Games

Number of Students | Ratio of Students
Total Number | . L C e
Class of St dents without participation | participating in

' N in both the games Chess to Carrom
A 420 119 4:3
B 330 88 T:4
C 240 110 8:5
D 125 45 92:3
E 390 130 8:5

faferfiaa aiferen @ uss faemem & gi=g fa-fig s d§ @) seam Gafda ) gen, 3 (@ @
ferenfed i <t ween ot A orEw 0 9m o 2 R A A O, s () yats d um o1 9 faentd
+g W 9l faefe 8 s wad e fon o 21 S feeed 3 oA o e @ s 3 # Fm
fferer U 2121 & SER © Y9 1-5 & 39 gt

-1 FeAl 4 WriEr]

A : a1 @l § oy aefrerfl @@ | S @ oo 8 s 0 um
el | e 1 5 WS | T e 1 s A & el -
A 420 119 4:3
B 330 88 7:4
C 240 110 8:5
D 125 45 2:3
E 390 130 85




What is the average of number of students participating in Carrom from D and Chess from A?
D# & i au A% ywia d ym & 18 faenfi i gensi s siem &= 20
[Question ID = 908][Question Description = 103_00_General_13_SEPT22_Q03]

110

[Option ID = 3629]
2 130

[Option ID = 3630]
3. 150

[Option ID = 3631]

4125

[Option ID = 3632]

4)

The following table shows the details about (i) the number of students studying in five
different classes A-E of a school. and (11) participating neither in chess nor in carrom (iii) the
ratio of students who participate in Chess to Carrom. The remaining students play either
chess or carrom. Based on the data in the table answer questions 1-5:

Class-wise Participation in Games

Number of Students | Ratio of Students

Class Tg;‘gij;;?f‘r without participation | participating in
' = in both the games Chess to Carrom
A 420 119 4:3

330 88 T4
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390 130 8:

ot




frferfian e § ves Tenmem & g9is fa-fag sensn 9 () steggam faenfede ) g9en, 3 @) #A
ferenfefdi 1w M A s 0 9T | B 3 A A S b, 3 (ul) A 4 um oA g faentdn
g wer A e 8 s e e fomn omar 21 9 feenedl 9 F s e @ sl 3 @ o
fereh 1 2/ & A=A W Y9 1-5 & I gt

HET-d1 @l 5 YriEr

— ; o1 @Al § fa=n 9efigr are | S F T g 8 WPl
A 490 119 4:3
B 330 88 7:4
C 240 110 8:5
D 125 45 2:3
E 300 130 8:5

Number of students participating in Chess and Carrom fom Class E is what percent more or
less than the number of students participating in Chess from C and D together?

#an E # wata of dvm g ue & 2 fenfi ) owen ¢ 3 D% faeres waea | g | o el
&1 g 4 e gl s @ oy 27

[Question ID = 909][Question Description = 104_00_General_13_SEPT22_Q04]

117 V4%

[Option ID = 3633]
2. 132 Y:%

[Option ID = 3634]
3131 %%

[Option ID = 3635]
4. 215 37%

[Option ID = 3636]

5)



The following table shows the details about (i) the number of students studying in five
different classes A-E of a school. and (1) participating neither in chess nor in carrom (iii) the
ratio of students who participate in Chess to Carrom. The remaining students play either
chess or carrom. Based on the data in the table answer questions 1-5:

(Class-wise Participation in Games

Number of Students | Ratio of Students
Total Number | . L C e
Class £ Stadent without participation | participating in

g R in both the games Chess to Carrom
A 420 119 4:3
B 330 88 7:4
C 240 110 8:5
D 125 45 2:3
E 390 130 8:5

fferfign wifere d vas feemer & g e -fag sansn 9 () e el 6 g@n, i (@) A
ferenfd i <t deen o A wrees 0 9M o B W 9 A Fu O, S (uh) TS d g oF 9 faenfda
g Werd gl faenfen 8 sum wad e fon o 21 9 faeed 3 A o e 2 3w 3 8
Arferas U 2021 % SER W Y9 1-5 % I gt

HET-d1 @l 5 YriEr

R : aHl @l § fan aefrerd @@ | & ER Gy
| P 1 5 5 ) T el 1 s 2 @ Al v 35
A 420 119 4:3
B 330 88 7:4
& 240 110 8:9
D 125 45 2:3
E 300 130 8:5

If students who do not participate in both Chess and Carrom from A is inereased by 3%%17%.
then the number of students participating in Chess from A is decreased by what percent?
(Ratio of students participating in Chess to Carrom remains same for A)

afe AH st 30 sy EH 8w A8 o A feefln 4 50000, o gfg AW 2, A AR v O um @
2 farnfela ) s feaq ufaum =2 9l 27 (s 3917 Sy O g & o2 faenfi &1 same A &% fee
T A1 TR B) 7

[Question ID = 910][Question Description = 105_00_General_13_SEPT22_Q05]
1. 200/,30

[Option ID = 3637]
2. 30044194

[Option ID = 3638]



3. 300/4594

[Option ID = 3639]
4 400/47%

[Option ID = 3640]
Topic:- GP_22SEPT22_SH1_S1_PartB

1)
A chemistry teacher is learning marketing management as a life-long learning process. Which
type of learning can this be categorized as?

R e 6 v fiwe Sfie o= ufen & w9 0 e wEes o die o 2 e T F
e % =9 4 avfiad foren s g 22

[Question ID = 911][Question Description = 106_00_General_13_SEPT22_Q06]

. Formal education

Hrg=Tiren foren
[Option ID = 3641]
2. Informal education
TR foen

[Option ID = 3642]

3. Non-formal education

T — 3= foan
[Option ID = 3643]
4. Offline education

i ereq foren

[Option ID = 3644]

2)  Match List I with List II :

List I List IT
(Learning Disabilities) (Symptoms in learners)
(A) Dysecalculia (Iy  Dificulty in reading and writing words
(B) Dyslexia (II) Diafficulty in writing correct spellings
(€) Dysgraphia (IIT) Difficulty in holding objects
(D) Dyspraxia (IV) Trouble in counting

Choose the correct answer from the options given below :



HHI-1 % =1 1 g=1-10 fyerm $ifau

H1I HELIT
( wifepmy Furean) (Forarefi o wam)
(&) e e @ wEE # ved 3in fored 4 s
(B) 93 FEd (I w& adf fam s
(C) wEA dEe (IID) 4301 1 9ehe o mad | wfaard
(D) W Ho=y dehes (IV) foeft o smen

e fau o fasenl 8 w8 39 o =9 Hifa .

[Question ID = 912][Question Description = 107_00_General_13_SEPT22_Q07]
T (A)-(IV). (B)-(IL). (C)-(III). (D)-(I)

[Option ID = 3645]

2. (A)-(II). (B)-AV). (C)~(I). (D)-(I1I)

[Option ID = 3646]

3. (A)-(IID), (B)-(I). (C)-(II). (D)-(IV)

[Option ID = 3647]
4 (A)-(IV). (B)-(D). (C)-(II). (D)~(I1I)

[Option ID = 3648]
3)

Given below are two statements : One is labelled as Assertion A and the other is labelled as

Reason R.

Assertion (A):  Formative assessments are used for providing feedback to the learner for
improvement,

Reasons (R) : Formative assessments improve teaching-learning process.

In the light of the above statements. choose the correct answer from the options given below :

4 g1 #eA few o 2 ;s wfyee (Assertion (A) % ®9 4 fafigd 2 @1 €591 3Hah %1 (Reasons

(R)) F¥1 0 :
sfyed (A): TS SemEa F g el @ guae & e afafe wem @ # feu fe
ATe 2
HI (R) TEATES GrTehA fia syl gk 8 g s #)
FUIE F4E & sfTenss 4, = feu o famati O ® w8 3 1 91 fifau
[Question ID = 913][Question Description = 108_00_General_13_SEPT22_Q08]
1. Both (A) and (R) are true and (R) is the correet explanation of (A)
(A) 3R (R) 21 @1 2 311 (R). (A) 1 o sqre 2

[Option ID = 3649]



2. Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(A) 3l (R) 1 B 7 difeA (R). (A) & &l samen 445 2
[Option ID = 3650]
3. (A) 1s true but (R) 1s false
(A) g1 2 oif (R) 3= 2
[Option ID = 3651]
4 (A) is false but (R) is true
(A) 315 # el (R) 9 2
[Option ID = 3652]
4)
The provision of earning credits from Optional and Elective courses was introduced in higher
Education Institutions by which of the following?
JehleTeh o T Tl 4 shige 316 % uEYR & Fefaige O 9 e g o= e sensn o
ARy v g e
[Question ID = 914][Question Description = 109_00_General_13_SEPT22_Q09]
1. Academic Bank of Credit
whefiys da wTh fze
[Option ID = 3653]
2. MOOCSs on SWAYAM portal
= (THESUATE) Gidd 9um a0 0 o o
[Option ID = 3654]

3. Choice Based Credit System
T M dhfee sgau
[Option ID = 3655]
4 Vocational courses
[Option ID = 3656]
5)

While delivering a lecture, there iz disturbance created by students in class. Which of the
following measures should be taken by a teacher?

Faf| 0 SR ol 494 gEl 57 fas G fEn am R e g fefafae @ 3 s W e @
ai[%!_{?

[Question ID = 915][Question Description = 110_00_General_13_SEPT22_Q10]

- Punish those causing disturbance.



oA 3w aare &) gfga F
[Option ID = 3657]
2. Ignore and continue,

a1 e afn e T

[Option ID = 3658]
3. Leave the class and report to Head of the institution

sl I L HEA] < g 1 g e
[Option ID = 3659]

4. Talk to the students causing disturbance and motivate them for learning.
o Zera saTel feniagl 4 am e 32 died & foe ufa &
[Option ID = 3660]

6 5. - : %
) Interpretivism is an epistemology which contrasts

SRS HTeEATE e W w-dai 2 o fe & fada 2-

[Question ID = 916][Question Description = 111_00_General_13_SEPT22_Q11]

. Hermeneutics

syrErT e
[Option ID = 3661]

2. Subjectivism
IELEIEEGICI
[Option ID = 3662]

3 Positivism
e g

[Option ID = 3663]
4. Phenomenology

] - fepan-Tasm

[Option ID = 3664]

" The internal validity factor in research is related to the issue of

sl 8 wreafer Aga wwes & wery el | dm o -
[Question ID = 917][Question Description = 112_00_General_13_SEPT22_Q12]
' Qausality
FFT]
[Option ID = 3665]

2. Naturalism

WEATE



[Option ID = 3666]
3. Generalisability

=Rt

[Option ID = 3667]
4 Duplication

UL
[Option ID = 3668]

8) . . N .
Which of the following are positive features of content analy=sis?

(A) It does not need sampling of contents,
(B) It iz an unchtrusive method.

() It 1s haghly flexible in character.

(D) It is a transparent research method.

(E) There 1s no need to use it for longitudinal research,

Choose the correct answer from the options given below :

Fraferfem U & # fawa @ fagsenm $1 g snsfiesa & 7
Ay 7y faymEE sl & ufdega & smavgsm T8 2

(B) ¥R UH HEH i R

(C)  3meh v sew uefige A

(D) == e greyf snu-vafa 21

(B)  S{¢A Y & f60 S5 300 #1 6) AEwEal T9 2

fau 1 Taewre § © =6 I &1 =9 Hifa

[Question ID = 918][Question Description = 113_00_General_13_SEPT22_Q13]
1. A B.COnly

Fad A B.C
[Option ID = 3669]
2. B, C.DOnly
FaAaB.C.D
[Option ID = 3670]
3. D.C.EOnly
F94D. C. E

[Option ID = 3671]

4 A D.EOnly

F47 A. D. E

[Option ID = 3672]



9)

Given below are two statements :

Statement I 1 A systematic review of literature defines the purpose of the review in

explicit terms,

Statement IT :  The svstematic review can he applied to qualitative research since 1t 1=

not evidence based.

In the light of the above statements. choose the correct answer from the options given helow :
i 1 @ o m E
w4 1: iAo gegatead adian 8 wian & wEreE @ qer weg 8 ainnfea fen a2

e 11:  Herafeyd qfian &) S onens sd 4 R 1 A 2 #ife gw Je-smarte T8 2

I FUH & e o, 9 feu no fawe O B w8 7 % g Fifae

[Question ID = 919][Question Description = 114_00_General_13_SEPT22_Q14]

1. Both Statement I and Statement I are true

EC e i
[Option ID = 3673]
2. Both Statement [ and Statement 11 are false
@z 1 31 11 a1 95 7
[Option ID = 3674]
3. Btatement Iis true but Statement IT 1= false
Fod [ H B, e F9A 11 75 2

[Option ID = 3675]

4. Statement I is falze but Statement IT iz true

e I 3797 2, elferd ee 115 2

[Option ID = 3676]



10
) Match List Twith List I :

ListT List IT
(Scale) {Focus area)
(A) Likeit (I) Popularity Ievels
(B) Gutteinan (I} Stereotypes
(C) Bipolar (III) Artitudes
(D) Index (IV) Political conservatism

Choose the correct answer from the options given below :

FH1-1% |19 #1 yF-11 e i

HHIT HeE1-IT
(1) (RTFH &)
(A) o () TR =
(B) TaHd (II) kﬁﬁgﬁm (Stereotypes)

(Cy fggdm (Bipolar) | (II0) sl
(D) Ha%Fi% (Index) (Iv) i wfeae
4= feu o faeped] 4 | ®A I w1 =99 S .

[Question ID = 920][Question Description = 115_00_General_13_SEPT22_Q15]
1 (AT, (B)AII), l[_:'}-!]I[}, (D)-(IV)

[Option ID = 3677]
2. (A)(ID. (B)-(IID). (C)-IV). (D)D)

[Option ID = 3678]
3. (A)IID). (B)-(IV). (C)-«(ID). (D)-(I)

[Option ID = 3679]
4 (A)-IV). (B)-(T). (C)«(II), (D)-(IIT)

[Option ID = 3680]

1) ......cce.... 18 equated with high-brow cultural communication.

freferfan 4 § fam seranifa aiemfas S g s 2-
[Question ID = 921][Question Description = 116_00_General_13_SEPT22_Q16]
' Film exhibition
B ICER CHlE

[Option ID = 3681]

2. Styeet theatre

&S AlEH
[Option ID = 3682]
3 Folk dance
AT
[Option ID = 3683]

4. Classical music



9ITE TS HIfTA

[Option ID = 3684]

12) _— N .
In communication. the process of framing 1= much influenced by

HIU H #9131 g9 (framing) H1 9D W e w1 sifas o g2 2
[Question ID = 922][Question Description = 117_00_General_13_SEPT22_Q17]
- The political order

TTHAfTE ST

[Option ID = 3685]

2. The escapist tendency
qerEAaTd Safa

[Option ID = 3686]
3. Cultural backeround

[Option ID = 3687]
4. Bemantic barriers

wreetel Hegl ATy

[Option ID = 3688]

13)  n constructive contexts of effective histening behaviour, communication is characterized by:

(A)  Trivial disturbances

(B Wealt feelines

(C) Identification of the common ground

D)  Finding out the areas of mutual agresment.
(E) Search for real issues,

Cheose the correct answer from the options given below :

THTESE] TG0 SIEER % THATHS Hadl 4 Hiwv f Afeenafrea e a-
(&) mad fa=

By e gagand

(C) =M@ 4R F T79H

(D)  WER HEgfd & &l &l 9d] S

(E)  avsfas sueqsi &l gedl

feu mu faamedi O 8 ol 39 @1 =999 $ifu

[Question ID = 923][Question Description = 118_00_General_13_SEPT22_Q18]
. ABC Omnly
#a4 A, B, C

[Option ID = 3689]
2. C.D,EOnly



3.

4.

Fa4C. D E

[Option ID = 3690]
A.D.E Only

FAAAD.E

[Option ID = 3691]
B, C. D Only

FIAB. C. D

[Option ID = 3692]

14) Given below are tivo statements ;

Statement T :  Enculturisation of societies happens through education and persuasive
communication.

Statement IT : Art and public communication contribute for the non-socialisation of
people.

In the light of the above statements. choose the correct answer from the options given below :
Ji= @ s feo o 2
e 1: | & gEpd, e o favareres aum § # 2
e 1 el 371 JidaHeh HUT @pTl & FHETEE § J0EE

THTF R AT °, = f2e o faee O 8 g8 3 e 9 i,

[Question ID = 924][Question Description = 119_00_General_13_SEPT22_Q19]

1.

2.

3.

4.

Both Statement I and Statement IT are true

F94 13 I &9 54 &

[Option ID = 3693]
Both Statement I and Statement IT are false

CRIER g IR (R

[Option ID = 3694]
Statement I1s true but Statement II 1s false

Fo [ e 2, el 93 I 95 2

[Option ID = 3695]
Statement I 1= false but Statement IT 1= true

w1 FEA B, dAfdA wed 1159 7



[Option ID = 3696]

) Mateh Lise I wath Last IT :
TistI Tast IT
(Commumnication context) (Characteristic)
{A) Physical (I}  Stress and anxiety
(BY Psychological (II) Obzervance of norms
(C) Soeclal (IIII Familiavity-oriented
(D) Relational (IV) Environmental factors

Choose the correct answer from the options given below :

gedi-1% |14 &1 g91-1 el it

-1 HH1-11
(Eiry He) (eneforera)
&) it () e 3 faem
(B) GRS (II)  =rek] o1 HATEH
(Cy  HyuTf A (ITT) Hfasien-3=pE
(D)  HEEHTHF (V) gAE0ig F1h

fr=1 few o feesenl 0 A/ w8 o w1 =4 Hifn
[Question ID = 925][Question Description = 120_00_General_13_SEPT22_Q20]
T (A)IV). (B)-(I). (C)-(ID). (D)-(I1T)

[Option ID = 3697]
2. (AT, (By<IVY, (Cy-(T), (D)(IT)

[Option ID = 3698]

30 (AL, (By-IID), (Cr-1IV). (D)-(I)
[Option ID = 3699]

4. (AT, (By-(ID), (C)-(I1I), (D)-(TV)

[Option ID = 3700]

16 . A . ; 3 =
) Find the missing term in the zeres givenas: 2. 5. 8, 19, 37.7

€l 7T 3pgen H @6 Ye 7 it 2, S, 9, 19, 37,7
[Question ID = 926][Question Description = 121_00_General_13_SEPT22_Q21]
1. 74

[Option ID = 3701]

2. 75

[Option ID = 3702]

3. :‘j]_
[Option ID = 3703]
4. G1

[Option ID = 3704]



17) A man starts from a point A and travelz 3 km towards east to reach B and then turns left and.

travels thrice the distance to reach another point C. From there he again turns left and
travels five times the distance he covered between A and B and reaches his distination D.
What is the shortest distance between the starting point and his destination?

ws Sk A fog # S ui #7523 gd e 0 3 fefi. 99 B W 98 2 o1 97 91 90 92
AT R HE A A Hee e faeg © W wEs e R R A g e w3 g o 2 5 A FN B %
e 1 g o ot 2l @9 @ W fAe o as D W aEa A 21 arius fEg o 3es e & A
%1 =2y gl fepad 2 2

[Question ID = 927][Question Description = 122_00_General_13_SEPT22_Q22]
T 12 Km

12 ferefl

[Option ID = 3705]
2. 15 Km

15 fepfi

[Option ID = 3706]
3. 24 Km

24 feprdi

[Option ID = 3707]
4. 97 Km

27 fafi
[Option ID = 3708]

'8) It WONDER' is coded as YQPFGT then how MUSEUM shall be coded in the same scheme?

gfz ‘WONDER' %! %18 YQPFGT fean mn 2, &t 36l ¥fig d MUSEUN &1 &[5 #91 &1 7
[Question ID = 928][Question Description = 123_00_General_13_SEPT22_Q23]
I OUWGOW

[Option ID = 3709]
. WOUWGO

[Option ID = 3710]
3. OWUGWO

[Option ID = 3711]
4. OUWWGO

[Option ID = 3712]

19) The average of 5 Consecutive numbers A, B, C, D and E is 12, What 1= the produet of A and
D?

qiE #HuFT HENs A, B, C. D 3R E %1 3i18d 12 21 A 3% D =1 UEFe #=1 &7

[Question ID = 929][Question Description = 124_00_General_13_SEPT22_Q24]
1. 140

[Option ID = 3713]
2. 120

[Option ID = 3714]



3. 110

[Option ID = 3715]
4130

[Option ID = 3716]

20) A tpader marked the price of his commodity so as to include a profit of 253%. He allowed a

diseount of 16% on the marked price. What 1s the actual profit he earns?

U M 4 25% 1 A A3 w WA U6 &1 4o sifea ) 3uH sifed gon m16% @ aE (92)
T Tu gm wifea anafas @ &=n 27

[Question ID = 930][Question Description = 125_00_General_13_SEPT22_Q25]

1. 9%
[Option ID = 3717]
2. B%

[Option ID = 3718]
3. 16%

[Option ID = 3719]
4 20%
[Option ID = 3720]

21 R ; ; 2
) If the statement "All men are honest” 1= given as false. which of the following could be inferred

immediately from 1t7

(4)  Some men are honest’ 1 false

(B) ‘No men are honest’ is true

(C) ‘No men are honest’ iz undetermined
(D) ‘Some men arve not honest’ 1s true

Choose the correct answer from the options given below ;

afe HYA- Al FY SHHER 7 3 & w9 0 @ o 2 @ 3a W Fefataa § | el aewies =9
# wuia foe = A 20

(A) 'F3 [ WA B, #AE R

By wrd ot p drEn E B, ae Rl

(©) ‘i3 W P gEEgE A 2, sfsifE 2

(D) ‘@ Y e A6 2w R

few mmu feredi ©f 0 wA T o =g i,

[Question ID = 931][Question Description = 126_00_General_13_SEPT22_Q26]
1. Aand B Only
F9e1 A 3 B
[Option ID = 3721]
2. CandD Only
el C #H D

[Option ID = 3722]
3. Aand D Only



Fae A 3D

[Option ID = 3723]
4. Band D Onlr

#ael B AT D

[Option ID = 3724]

22) )

Given helow are two statements :

Statement I :  In Square of opposition, the opposition between a universal propostition
-and its corresponding particular proposition is known as subalternation.

Statement IT : The opposition between No S i1z P' and ‘Some S i1s not P iz called
subalternation.

In the light of the above statements. choose the correct answer from the options given below :

#1 @ e fav e 2 .

wYAT: U o G § U wederdl afawfn 3 e fam afasth % de e e 3mge &
19 H AT AT 2
FAIL: e i 8. PAA 8 AN T S P A 7 & = fanyg &1 anmEm wm A 2

TR FU4 & At 4, 4= v m fawe 4 8 g8 3930 & 9939 $ifau

[Question ID = 932][Question Description = 127_00_General_13_SEPT22_Q27]
1. Both Statement I and Statement 1T are true

w130 I 21 o 2
[Option ID = 3725]

Z. Both Statement I and Statement I are false

FY- [ 30 11 gHi 957 2
[Option ID = 3726]
3. SBtatement I is true but Statement IT 1= false
Fyd THA 2, oifd &9q I 55 2
[Option ID = 3727]
4. Btatement I 1s falze hut Statement IT is true
Fyq 1 35 B, ek F4 11 HS 2

[Option ID = 3728]

23)
“There 1s no such thing as knowledge which cannot be carried into practice. for such

knowledge is really no knowledge at all.” Which fallacy is commitfed in the above statement?



“Ugy i fraw wE % w0 0 98 2, o e ey § 9E R W meAn 39 YR & S greE O JH
el 91 21 ' 3T U § -1 @9 m foen e 27

[Question ID = 933][Question Description = 128_00_General_13_SEPT22_Q28]
. False Cause
ez

[Option ID = 3729]
2. Begging the Questicn

w9 & I

[Option ID = 3730]
3. Amphiboly

EEERE T
[Option ID = 3731]
4. Fallacy of Compostition

Hafd w1 ad 4n

[Option ID = 3732]

24 7 : g . F 8.8
) Which of the following corresponds to hetu (reazon) according to classical Indian Logicians?

FeAITE] WA Aol & FER Fefafaa @ J S # (FHE) | g1 @ 2 v
[Question ID = 934][Question Description = 129_00_General_13_SEPT22_Q29]
1. Therefore thic hill has fire

Bafem, 39 9RTE O g 2

[Option ID = 3733]
2. Because it has emoke

i, 394 Y3 2
[Option ID = 3734]
3. this hill has fire

2 Targl i wify #)
[Option ID = 3735]
4. This hill has smoke which is invariably associated with fire

¢ e d g 2, o FrrE w9 @ wfi @ Geg 2

[Option ID = 3736]



25)

Given below ave two statements :

Statement [ : Classical Indian logicians regard deduction and induction as two

separate logical processes.

Btatement IT . According to Classical Indian logicians verbal form is not essential to

Inference.

In the light of the above statements. choose the most appropriate answer from the options

given below :
A 21 = fow m 2
94 I:  gerhaehl wwdra aehumell FRre o s ) 1 Pas arfde afen & e 0 o A
FoE 11 Fennfaedl undtg o snfadi & san s = sgae & fon srenavas 38 2

I ®ed & et 0, e fou o fasedi O @ wed Ivgw I w 9uE i

[Question ID = 935][Question Description = 130_00_General_13_SEPT22_Q30]

1.

2.

3.

4.

Both Statement I and Statement II are corvect

aher T 37 11 &1 5él 2

[Option ID = 3737]

Both Statement I and Statement II are incorrect

%= T 371 11 g1 e &
[Option ID = 3738]

Statement I is correct but Statement I is incorrect

e THA 7, Al %21 11 Ted 2

[Option ID = 3739]

Statement I 1s 1ncorrect but Statement II 1s correct

®Y L7erd 7, oo &yga a8 2

[Option ID = 3740]



26 : . y 4
) Given below are two statements : One 1= labelled as Assertion A and the other 1= labelled as

Reaszon R.

Asszertion (A):  E-Governance is important for good governance in Higher Eduecational
Institutions.

Reasons (R): E-Governance 1= responsive, transparent and subjeetive.

In the light of the ahove statements. choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) 1= the correct explanation of (A}
(2) Both (A) and (R) are true but (R) 12 NOT the correct explanation of (4)
(3 (A) 12 true but (R) is false

(4) (A) 1= false but (R) 1s true

A= @ A fau e 2 us HfuEyd (Assertion (&) % ®9 4 fofga 2 A1 ¢80 5% F1 (Reasons

(R)) % =91 :
HiwerzA (A) - - T e HEnsd O qerEa & o geeng 2)
I (R) : S-S, TEEy Wi sl 2

AT U F A O, A few o faeedl 9 A w8 a w9 Fifao

[Question ID = 936][Question Description = 131_00_General_13_SEPT22_Q31]
1. Both {A) and (R) are true and (R) is the correct explanation of (A)
(A) 31 (R) g1 H 2 3l (R), (A) &I HAl sqre) 2

[Option ID = 3741]
2. Both (A) and (R) are true but (R) 1= NOT the correct explanation of (A)

(A) 31 (R) a1 |7 3 &t (R), (A) 1 @8 =amen 74 2

[Option ID = 3742]
3. (A) 15 true but (R) is false

(A) 7 B olfe (R) 3199 2

[Option ID = 3743]

4 (A)is false but (R) is true

(A) 3/ 2 dfa (R) Be 2

[Option ID = 3744]

27) . . . : . .
Which of the following would most hkely be considered unaceceptahle use of information by a

teacher?

Frfefian U | fagen T ASER S HEE & 3TEN w1 gaie Feed) s e e



[Question ID = 937][Question Description = 132_00_General_13_SEPT22_Q32]

K Using the school district’s database to determine gender distmbution in local schools.

i faemerEl § S fedtagem’ (o aes faam) & famm % foao faenes fae % 2ems
1 IFAN I
[Option ID = 3745]
2. Using the Internet history on a Classroom computer to audit student Internet use.
Tl & e I Fl era-yien & o wan & v e Wosse fE @ 3R] e

[Option ID = 3746]
3. Using student’s personal data to create a mailing list for a local charity.

g wmie o fom v gfepr g2 g9 % fa ol & =i 2o @ 3w s

[Option ID = 3747]
4.  Using classreom records to determine recipients of academic awards.

HEEE AGTed & WHEAHA & [ & fau w1 % wfeng] & 3w &=

[Option ID = 3748]

20 Given below are two statements :
Statement I : ‘PARAM-Shivay supercomputer was buillt under the National Super
Computing Mission at IIT-BHT.
Statement IT ¢ PARAM-Shivay supercomputer iz of 833 teraflop Capacity.
I the light of the above statements. choose the correct answer from the opfions ziven below :
H g #eE fou o E

deE I T gw eein favm % osmia s, s, & i v=. g, 0 wo-fEm g g .
fmtur fapan g )

®ed IT: "o -ToEms’ g sosper 833 SO AT # 2)

I HY9 & e O, G4 o om fGead § 9 98 30 % 991 Fifa

[Question ID = 938][Question Description = 133_00_General_13_SEPT22_Q33]
1. Both Statement I and Statement I are true
& 1 3 11 aF |e 2

[Option ID = 3749]
2. Both Statement I and Statement I1 are falze

FoF 1 30 I &9 559 2

[Option ID = 3750]



3. Statement Iis true but Statement IT is false

FYd 19 2, ciféhat e 11 997 2
[Option ID = 3751]

4. Statement Iis false but Statement II is true
#eA 1 7Ee 2, difehd &eE 1L 9 2

[Option ID = 3752]

29
) Which of the following isfare not exampleiz) of Cloud Service?

(A) Googzle Drive

(B)  MezghRaj

(C) Dropbox

(D)  Windows Explorer

Chooze the correct answer from the options given below :

Frferfian i # v /@ Fore i % sam w8 2/

(A) 7T gREE
(By e
(C) EETEs

Dy o= veen

feu o fawmedi § & |d 39 @ =19 Sifaw,

[Question ID = 939][Question Description = 134_00_General_13_SEPT22_Q34]
1. B Only
Fad B
[Option ID = 3753]
2. D Only
#4961 D
[Option ID = 3754]
3 CandD Only
el € 3D
[Option ID = 3755]
4 A BandD Only
FAAA B LD

[Option ID = 3756]



30)

Match Tast I with List IT :
List1 List IT
i Tvpe of a Wehsite) {(Website Address)
(A) e-Commerce (I} wwwlinkedin.com
{B) Building up social media | (II) www.bing.com
(C) News (IIT) www.amazon.com
(D) Search engine (IV) www.bbe.co.uk

Choose the correct answer from the options given below :

el -1 <6 W9 1 H=I-11 fyerm it

g1 w11
(T=HTZE 1 THH) (d&HTEE 1 )
(A) 3 - FHE (D www.linkedin.com
(B) | difzn &6 wgad &1 | (1D www bine.com
(C) 3 (9U=EHE) (IIT) www.alnazon.com
(D) =4 T5H (IV) www.bbe.co.uk

Jre feu o fawmed § & T 39 @1 999 Fifau .

[Question ID = 940][Question Description = 135_00_General_13_SEPT22_Q35]
T (A, (B)-(D). (C)-(IV). (D)-(IIT)
[Option ID = 3757]

2. (A)(ID, (B)-(IV). (T)-(T). (D)-(I1T)

[Option ID = 3758]
30 (A)D), (B)-(IT), (Cy-{IV). (Di-(IIT)

[Option ID = 3759]
4. (A)(IID), (B)-(D). (C)-(TV). (D)-(ID)

[Option ID = 3760]

30 Which of the following hooks created awareness about adverse mmpacts of DDT which

ultimately led to the banning of this chemical in the United States of America?
freferfan 8 8 i feae 3 S48, % quwd + 9 4 swsd 39a $1, G smm 9 mmEs 46
Haw T it § giaafaa )
[Question ID = 941][Question Description = 136_00_General_13_SEPT22_Q36]

. Silent Spring

arEeve fem
[Option ID = 3761]
2. Earth in the Balance

[Option ID = 3762]
3. Anmimal Farm

ufE



[Option ID = 3763]
4. A Sand County Almanac

[Option ID = 3764]

32) Given below ave two statements :
Statement [ . To qualify as a biodiversity hotspot. an area must have at least 15000
spectes of vascular plants.
Statement I1 :  To gualify az a biodiversity hotspot, an area must have 50% or more of

Its priginal vegetation.
In the Light of the above statements. choose the most appropriate answer from the options
ziven below :
FeR I:  foef & % o9 fafgum 2z - o9fe 61 3@@ 90 %99 & foe o arfzes de 61 @9 5 @w
15000 warfeai #F1 =miaw)
oA 11 et 2 0 Ja fafaam @ #fe - w9 &1 w@m 9 %99 & fow =@l w50 sfdem o 299
o Hel Aeata # Anfan
IRTH FYH & A 4, F v o fawedi d 3 #9839 IR &1 994 Hifau

[Question ID = 942][Question Description = 137_00_General_13_SEPT22_Q37]

- Both Statement I and Statement IT are correct

#e T 30 I g &4 7
[Option ID = 3765]
2. Both Statement I and Statement IT are incorrect
wea 1 31 IO g TTerd 2
[Option ID = 3766]
3. Btatement I is correct but Statement I is incorrect
Feq T HE B, @fehd &9 11 7Tetd 2
[Option ID = 3767]
4. Btatement I 1z Incorrect but Statement IT 1s correct
oA LI 2, offea A 1198 2

[Option ID = 3768]

33 : . . o
) Which of the following stores the maximum amount of liqguid freshwater?

Trcpra O & 24 aran ol (e s aee) &1 a=99 it gafea s 27

[Question ID = 943][Question Description = 138_00_General_13_SEPT22_Q38]

. Rivers. streams

A, awrd

[Option ID = 3769]

2. Groundwater



3.

4.

s

[Option ID = 3770]

Freshwater lakes

GIERICI Il il

[Option ID = 3771]

Ao Yy

Wetlands

[Option ID = 3772]

34)

Identify the features associated with Kyvoto Protocol.

(A)
B
(Cy
(D)

Heavier burden on developed countries to cut down greenhouse gas emissions,
International emissions trading.
Nationally determined centributions,

Clean Development Mechanism,

Choose the correct ansiver from the options given below :

T2 -greTehTe | Halaa fagmensdi = gearfa)
= w13y 1) 6 w2 F feium oo afas 9@
g Jr W Fyita geeE

(A)
(B)
(C)
()

feu am faekeqi 4 | A 39 &1 924 Sifan:

[Question ID = 944][Question Description = 139_00_General_13_SEPT22_Q39]

1.

2.

3.

4.

A. B, and C Only

#ad A B3 C

[Option ID = 3773]

B. Cand D Only

&ae B, C #1 D

[Option ID = 3774]

A, BandD Only

FAA BN D

[Option ID = 3775]

A.Cand D Only

e A C. 3R D

[Option ID = 3776]



35)

Arrange the following renewable energy sources In inereasing order of their potential in

India.

{A) Solar Ensrgy

(B) Biomass Energy

() Wind Enerey

(D) Geothermal Energy

Choose the correct answer from the optlons given helow !

A 4 Jefieiita S S 6 A el %9 3 yaiem w0
(A) i F

(B)  HE 4H Al

(C) 44 Hdl

(D)  Yy-am A

few o Famsen {4 9@l 39 & = Hifau

[Question ID = 945][Question Description = 140_00_General_13_SEPT22_Q40]
' D.B.C.A

[Option ID = 3777]
. B.DAC

[Option ID = 3778]
3. B.D.C.A

[Option ID = 3779]
4 D,B.A.C

[Option ID = 3780]

36)

Given below are two statements :

Statement [ . The medical treatises of Charaka and Sushruta were included among
ancient sources of education in India.

Statement IT : Among ancient sourees of education no distinction was drawn between

shastras (Learned diseiplines) and Kavyvas (imaginative and creative
Literature)

In the light of the above statements. choose the correct answer from the optlons given below :

9 21 e feu e 2

Fe I

aqra 4 foren & wrEiE =@l § v i g2+ fafeed gy afoiae faam 9

w9A ;. foen & wria =l O s (sifermfia favg) vd s (Femmgs st gl afes) &

#T9 w12 e 97 o oA

I FY & e 4, 4 feu o famen O 8 gd I W e it

[Question ID = 946][Question Description = 141_00_General_13_SEPT22_Q41]

1. Both Statement I and Statement IT are true



4.

1.

3.

4.

FeE [ A1 I EH1 5@ 2

[Option ID = 3781]

2.

Both Statement I and Statement IT are false

FeE 1 90 I &1 #5978

[Option ID = 3782]

3.

Statement [ 1s true but Statement II is false

FeE 163 2, sifd &ya I 95 2

[Option ID = 3783]

Statement I 1s false but Statement I is true

e [ 99 B, offsd % I 4 2

[Option ID = 3784]

37)

Match Tist T with List T :

Tist1

{(Education Comimissions)

ListIT
(Proponent)

(A) National Enowledge Commission

(2009)

(B) University Education Commission
(1948-49)

(C) Secondary Education Commission
(1952-53)

(D) The Education Commission (1964-66)

(Iy  Dr. 8. Radhakvishan
(II) N Sam Pitroda
(IIT)y Dr: D.S. Kothr

(IV) Dr. Lakshamanaswami Mudalivar

Choose the correct answer from the options given below :

H-1 % H14 ) HHI-1 e it

g1 HeI-II
(f1en @) (A
(A) TEE FH AW (2009) @ =N, T EE
(B) favafaerers fan smm (1848-49) | an Ay fi=me
(€) et Fan swm (1052-53) (TIT) =i. 91, w8, &g
(D) o =g (1964-66) (IV) =i, Femoram yefean

9= feu . faemed] O 8§ 58 I @ =999 i

[Question ID = 947][Question Description = 142_00_General_13_SEPT22_Q42]

(A)TID). (B)-(IV). (C)-(L). (D)=I1II)

[Option ID = 3785]
2. {A)

<(II). (B)-(D. (C)-(III). (D)-(IV)

[Option ID = 3786]

(A

1), (BY-(IV), (C)=(ID), (D)-(I11)

[Option ID = 3787]

(A)-(IT). (B)-(I). (C)-(IV), (D)-(III)




[Option ID = 3788]

38) Given below are two statements :

Statement I : Distance Education Bureau (DEB). of Univercity Grant Commisszion
(UGC) has replaced the Distance Education Council (DEC).

Statement IT : Indian Couneil of E‘a.gricﬂtin'al_ Research (ICAR) provides financial and
professional support to Aericultural Universities for modernization and
Strengthening of academic facilities.

In the light of the above statements. choose the correct answer from the options given helow :
4 91 e fao o &

F44 I:  gred foen gfwz (31 4 ) ) Reafaaem saee 3mEm % o g Ben = (24 )
gm1 ufeeriaa fan w2

w9 TL:  WRATE i FgEae ufme (snddusm) s fvafmrem § defies gfamsi & smfhemm
we Hggter e faeita s st wrm gem e R

AT FEE F AT o, 91 fov v fawen § 8 98 3 =991 i
[Question ID = 948][Question Description = 143_00_General_13_SEPT22_Q43]
1. Both Statement I and Statement II are true

®24 1 30 I &F 4 7

[Option ID = 3789]
2. Both Statement I and Statement IT are false
FA 1 300 11 gH1 3797 &
[Option ID = 3790]
3. Statement I is true but Statement T is false
He I HeY 2, Al @2 11 378 2
[Option ID = 3791]

4. SBtatement I iz false but Statement I 1= true

#yq 1 3™ B, i & I 5 7

[Option ID = 3792]

39
) Information and Communication Technology (ICT) integration with teaching and learning

resultz in:

(A) Providing correct information in a comprehensive manner.
(B) Replacing books with online material

(C) Helping learners ta hroaden their information base

(D)  Replacing teachers with Computers

(E) Assessment throuzh online exanmination

Choose the most appropriate answer from the options given below :



1.

2.

3.

4.

1.

o1 v e i (s ) % foem i i & e o 8 o A

(A
(B)
(C)
(D)
{E)

dra fan o feprerdl @ | H=8 95 3 &1 =54 Al ;

U ST Al B HA o GEH FA]

QAR 1 ST HRA G ufe &

forrfelali 6l 39 = NYW S 9 1 gREE S
W ) s § ufaeiid s

ST WA & qren § gedicd

[Question ID = 949][Question Description = 144_00_General_13_SEPT22_Q44]

A D

E Only

F9d4 A D E

[Option ID = 3793]

A B. C Only

g A B. C

[Option ID = 3794]

A C, E Only

Fg9 A C. E

[Option ID = 3795]

B. C. E Only

#ae B. C. E

[Option ID = 3796]

40)

(iven below are two statements :

Statement [ : As per National Education Policy 2020, Agricultural Universities
comprise approximately 9% of all universities in India but enrclment in
agricultural and allied sciences is less than 1% of total enrolment in
higher eduecation

Statement I : National Education Policy 2020 has proposed to set up the Higher
Education Commiszion of India (HECT).

In the Light of the above statements. choose the correct answer from the options given helow !

SIERARE e R G U
FU4 1. It foven difa 2020 § upa % ofi favafaaed & s=ria 9 ofasm $fy favafemes 2

i w3 Fag fase § g=m e § 1 afoem & @9 v 2

Fa I1:  ndta faren ifa 2020, ¥ uve % 3= fen #/=E0 & 71234 &1 a2

I FYF & HTeh 4, 44 fou o feepeat 4 9 19 39 o =99 it

[Question ID = 950][Question Description = 145_00_General_13_SEPT22_Q45]

Both Statement I and Statement IT are true



2.

3.

4.

#1370 I3 9 A

[Option ID = 3797]

Both Statement I and Statement IT ave false

FeE 1 90 I &1 s9e 8
[Option ID = 3798]

Statement I 1s true but Statement II 1= false
F93 Tued 2, wifess s 11 98 2

[Option ID = 3799]
Statement I 1z false but Statement II 1s true

Fea [ HE B, difed #a 9™ 2

[Option ID = 3800]

Topic:- GP_22SEPT22_SH1_S1_PartC

1)

Read the passage and answer questions from guestion.

Trade policy typically reaches the public conselousness. and the media. when some national
producers complain that there 1z distorted trade in the goods they produce. Often. producers
are concerned because mmported goods cut into their profits or cost them their jobs, Other
producers may complain that foreign barriers to their goods keep them out of markets abroad
and similarly cut into profits and cost jobs at home. To understand the domestic polities of
trade. we need to know the Interest in guestion. the institutions through which these
interests are expressed. and how competing interests interact with one another. There are
both benefits and costs to trade barriers. Virtually all tools of trade protection-tariffs. quotas,
and other restrictions-make Imports more expenzive. which allows domestic producers to sell
more of thewr products, to raise their prices. or both. When tariffs are impozed on foreign steel
imported into the United States. American steelmakers can expand sales at hizher prices, As
a result. they mav be able to increase profits. raise wages. and hire more workers. Quotas,
which restrict the quality of foreign goods sold in the national market. ultimately have a
similar impact in that the reduction in imports reduces supply, thus raising prices. So trade
barriers assist national producers. The most direct cost of protection is to consumers of the
protected zood. Producers gain and consumers lose from protection, A trade barrer
introduces economic inefficiencies. It leads consumers to consume less of those goods that
protection has made artificially expenzive.



Ferfefige e 1 9fey 3 uw & 290 dtau -

W e TP e I Iedrien S % faEiia samm % Han O Reea #3d &, a9 s s i
SH-=1 vl wifem e R 9 H qd=dl 2| s sengs Mo wa A, w=itE s e
B I Ik @l 4l el 2 FeE 39 309 e H - IE 2

si= Femres W forraa @ Fed 2 T e aei W faae wandl & Fh 3 A & arae § g v
AT 2 R W9 W TR A afEa 8F 92 7| ave SR il &) JegE & o e femedia
&1 HUSH A9 I WA & 96 4 A S s 2 fas e g g4 feal 6 s e e 2 s
ferw e wferere fe s d weh-ge 8 S AT B 1 SR -SR] % o ud i ST AT A aned F,
SR H1E0 & @1 74 491~ Wk, Hiel 09 52 gt -smm w6 s sfus vl g 2, e
HiE] IPTEHT 1 A ING S A=A AR U & ggn HEEl <) SR i 9 F Sl 2| 9
Iiges wem o syrd foe e faRell s @ sifes weress sfadifun A Al 2 A sufiR som-gees
I gl W fasha ) A Hebd A qforaEEEy 9 o @l 8 gig w0 qed A, gegd] @e s 2 iR
it st a1 Frifae @ men 3| @ (P, 0 o aran § o=t af fazeh aeqan 6 oamn
Hifga w1 & AN A IH H HA[ 99Ta I3 2 o6 fe wmma O sl 3 smafd 8 @ e 2 s ga
T ged 4 gfg ARl A | 3 SIME SEidl 3 T el o) wEE) feer #) S & e ueE
W HTfeE o & IR W9 2| 3Pl oy foefan 2 aun 39k 1 Siem | s 2l B
SR FATE S A 1 (-2 0 8 $98 T, 3 T B I FH w= e 7, Al
Hiagu < HAV FEW w9 H WA A S 2

Trade pohey assumes public importance, when
s fifd o7& ik uwe 1 wie el 8, 99 -
[Question ID = 951][Question Description = 146_00_General_13_SEPT22_Q46]
1. Foreign frade iz more
foreshi samm s 21 21

[Option ID = 3801]

2. Domestic production is less

i 3TEA 4 F@Al 2|

[Option ID = 3802]
3. Producers complain

FTEH TR # B

[Option ID = 3803]
4. Media reacts

Hifemn ufdfern ot 21

[Option ID = 3804]



2)

Read the passage and answer guestions from guestion,

Trade policy typically reaches the public conseiousness, and the media. when some national
producers complain that there 1z distorted trade in the goods they produce. Often. producers
are concerned because 1mported goods cut into their profits or cost them their jobs. Other
producers mayv complain that foreign barriers to their goods keep them out of markets abroad
and similarly cut into profits and cost jobs at home. To understand the domestic polities of
trade. we need to know the Interest in question. the Institutlons through which these
interests are expressed. and how competing interests interact with one another. There are
both benefits and costs to trade barriers. Virtually all tools of trade protection-tariffs. quotas,
and other restrictions-make Imports more expensive. which allows domestic producers to =ell
more of thewr products, to raize thelr prices. or both. When tariffs are impozed on foreizn steel
imported into the United States. American steelmakers can expand sales at higher prices, As
a result. they may be able to Increase profits. raise wages. and hire more workers. Quotas,
which restrict the quality of foreign goods sold in the national market. ultimately have a
similar impact in that the reduction m imports reduces supply. thus raising prices. So trade
barriers assist national producers. The most direct cost of protection is to consumers of the
protected zood. Producers gain and consumers lose from protection. A trade barrer
introduces economic inefficiencies. It leads consumers to consume less of those goods that

protection has made artificially expensive.

Frefefiga e +1 gfgu it uwa &1 390 &g -

e 9 TG IeE 9 IeTen a5 an & [GEa s o Haw o e @ 8, a9 e s i
SH-=dA1 e fifed qe wefters =9 4 qagd 2| sifuenivm e i e A, w2t st as e
o A0 Ik #M] A S 2 U 3 309 TR H R -EE 92 A

= FeqTee ol forpr @ |eRd 2 Tk 3Rl geEl W g a0 3= g S aranl | @
HIFT A R AW I W IR A atad S 9ge B ate] sae it 1 aee % fow g faemsa
| HASH A9 3 G & g6 0 9 6 sy 2 s mem 1§ s a0 s e ama 2 osik
feput wieprt siferee] fea s o weh-gil § oS A A SIME -] % o Ud A T AT 3| A
SR Hiaq0 & #4179 291 Wk, Hie 09 52 gt -smm w6 s sifas welt g 2, e
WIWWWMW-MWﬁ.qﬁlﬂﬁlﬁﬁﬂﬁlaﬂl%ﬁﬁﬁmmﬂmﬁlm
IArges w2 o sy T o fagvh s @ sifaes wres sifadifua 1 et 2 ) st sear - e
I gl W fashd @ Al Hebd A| qimEReR 9 ofd ol H 9fg @ g B, g9gd] del H%d 2 3
st Fraril & Fenfa w2 mea ) e (), mn@aaﬁnﬁwmf&aﬁﬁaﬁmaﬁmm
Hifga o & AW siEd 3W R HaE 99T 9= 2 O8 f owmma O i 8 smgfd O s sl 2 s gw
yel qe4 H gfg 7l A1 SR SEIE] H TEE 3e9iehl w1 AEEE) (o 21w & s ueE
WA FifEE e % TR W 9l 2) IeaEdl 0 ey (e 2 aen e ) wem § w2l 2
ST STl ATl SiREAIS 61 qA-LTga e 2| S99 99T, 3 9= 1 94N FH H el 8, dl
HEEU <k HWU HEE ¥ A gEN G

Domestic policies of trade is related to

MR % =ve] fifeal feey wafaa 87

[Question ID = 952][Question Description = 147_00_General_13_SEPT22_Q47]

1.

2.

3.

Producers’ interests
FATESF (el |

[Option ID = 3805]
Institutional mtervention

[Option ID = 3806]
International opinion



4.

yiaida ma |

[Option ID = 3807]
Pirice elastieity

g i FEHE #

[Option ID = 3808]

3)

Read the passage and answer guestions from guestion.

Trade policy typically reaches the public conseiousness, and the media. when some national
producers complain that there 1z distorted trade in the goods they produce. Often. producers
are concerned because imported goods cut into their profits or cost them their jobs. Other
producers may complain that foreign barriers to their zoods keep them out of markets abroad
and similarly cut into profits and cost jobs at home. To understand the domestic polities of
trade. we need to know the Interest in guestion. the institutions through which these
interests arve expressed. and how competing interestz interact with one ancther. There are
both benefits and costs to trade barriers. Virtually all tools of trade protection-tariffs. quotas,
and other restrictions-make unports more expensive. which allows domestic producers fo sell
more of thewr products. to raise their prices. or both. When tariffs are imposed on foreign steel
imported into the United States. American steelmakers can expand sales at higher prices. As
a result. they may be able to increase profits. raise wages. and hire more workers. Quotas,
which restrict the quality of foreign goods sold in the national market. ultimately have a
similar impact in that the reduction m imports reduces supply. thus raising prices. So trade
barriers assist national producers. The most divect cost of protection is to consumers of the
protected zood. Producers gain and consumers lose from protection, A trade barrier
introduces economic inefficiencies. It leads consumers to consume less of those goeds that

protection has made artificially expenzive.

Frafafea werw &1 afgu s gw @ 39 &t -

S F LA TeE A Ieaien Sen  faeiia samm & "en O Reea % 2, T8 st s il
- e e qe yeftrres ®9 4 qagd 2| sty e i e A, w=ifs st e
o I Ik #0914 HI 3T B HUET 3 399 TR B = 9259 2

3= IeaTeH W [T R Hehd & foh 3R] Sl W fgEl Watil @ R 3R ATE o AT # gl T
S R SR A9 T R TR A atEa S 98 B | A Se it F1 Jeee % fow w fammeda T
&1 HESH A4 T TENH] & g6 0 T F SR 2 T e | 34 frat w1 s faen A 2 s
ferwt wiepr sifered] fea s  ush-gE § 93 A A SIMR -SR] 6 @ Ud A G AT 7| A
SR H20 & 8241 79 291 Wewkh, He v 52 wiahfal —smm w6 s i well g 2, e
e ITTEH| B F T H HGEH A= 3N gel I GgH $9E 91 9T Hia 9 # A 2| #E
IArgee wea | sy feu o fasshl sogra @ sifas wes stfadfaa 6 S 2 @ st so e
3= gl W faa @) A9 " A qfomeEEy 9 o @l 8 gfg o 5 &, geed] &g aed 2 sl
st sl o Fenfae o wed 2| e (feam), mn@maﬁnﬁﬁrﬁfﬂmﬁaﬁmﬁmm
Hifga e & W W 3N E HOE 99T IS & oH fe o wmma O sl 9 srgld O sl e 2 s ga
v geg 1 gfg ARl A1 s sm el | TEE IeeEl %) wErEal foer 21 e w5 wEy g
wqE HYfem T I WS 2) el o ey foetan 2 A andee w) e | a2l 2
ST AT SfdF A F [ # 8) T58 T, A B I9I FH H oA 2, Al
HAaU o HWU HEME FY A gAN A i A

Trade protection is veflected in

s HE feey fafafaa g 20

[Question ID = 953][Question Description = 148_00_General_13_SEPT22_Q48]

1.

Reduced prices of products



2.

3.

4.

4)

Feqre 1 Fifaa Fdi 4

[Option ID = 3809]

Increase in export prices

Fata ge=i d gfg |
[Option ID = 3810]

Higher prices for domestic products

aie] IAME] & fofu S gedl |

[Option ID = 3811]
Availability of quality products

TUIEATE Rl i Il o

[Option ID = 3812]

Read the passage and answer questions from guestion.

Trade policy typically veaches the public conseiousness. and the media. when some national
producers complain that there 1z distorted trade in the goods they produce. Often. producers
are concerned because mmported zoods cut into their profits or cost them their jobs, Other
producers mayv complain that foreign barriers to their goods keep them out of markets abroad
and similarly cut into profits and cost jobs at home. To understand the domestic polities of
trade. we need to know the Interest in gquestion. the institutlons through which these
interests are expressed. and how competing interests interact with one ancther. There are
both benefits and costs to trade barriers. Virtually all tools of trade protection-tariffs. quotas,
and other restrictions-make Imports more expensive. which allows domestic producers to sell
more of thelr products, to raise their prices. or both. When tariffs are imposed on foreign steel
imported inte the United States. American steelmakers can expand sales at hizher prices. As
a result. they mayv be able to increase profits. ralse wages. and hire more workers. Quotas,
which restrict the quality of foreign goods sold in the national market. ultimately have a
similar impact in that the reduction In imports reduces supply. thus raising prices. So trade
barriers assist national producers. The most direct cost of protection is to consumers of the
protected =ood. Producers gain and consumers lose from protection. A irade barrier
introduces economic inefficiencies. It leads consumers to consume less of those goods that
protection has made artificially expensive.



Frefetfiga rem w1 gfew s uwa 1 397 diftau -

W e TP e I Iedrien S % faEiia samm % Han O Reea #3d &, a9 s s i
SH-Ha vd ifem a9 weftrrers w9 d qaEd /) sl seres o wa 8, s srafea aegan
B I Ik @l 4l el 2 FeE 39 309 e H - IE 2

si= Femres W forraa @ Fed 2 T e aei W faae wandl & Fh 3 A & arae § g v
AT 2 R W9 W TR A afEa 8F 92 7| ave SR il &) JegE & o e femedia
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Imposition of trade barriers means
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1.

2.

3.

4.

Lower wages for the labour
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More consumption of domestic products
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Priority for consumer protection
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Economic mefficiency
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5)

Read the passage and answer guestions from guestion,

Trade policy typically reaches the public conseiousness, and the media. when some national
producers complain that there 1z distorted trade in the goods they produce. Often. producers
are concerned because 1mported goods cut into their profits or cost them their jobs. Other
producers mayv complain that foreign barriers to their goods keep them out of markets abroad
and similarly cut into profits and cost jobs at home. To understand the domestic polities of
trade. we need to know the Interest in question. the Institutlons through which these
interests are expressed. and how competing interests interact with one another. There are
both benefits and costs to trade barriers. Virtually all tools of trade protection-tariffs. quotas,
and other restrictions-make Imports more expensive. which allows domestic producers to =ell
more of thewr products, to raize thelr prices. or both. When tariffs are impozed on foreizn steel
imported into the United States. American steelmakers can expand sales at higher prices, As
a result. they may be able to Increase profits. raise wages. and hire more workers. Quotas,
which restrict the quality of foreign goods sold in the national market. ultimately have a
similar impact in that the reduction m imports reduces supply. thus raising prices. So trade
barriers assist national producers. The most direct cost of protection is to consumers of the
protected zood. Producers gain and consumers lose from protection. A trade barrer
introduces economic inefficiencies. It leads consumers to consume less of those goods that

protection has made artificially expensive.

Frefefiga e +1 gfgu it uwa &1 390 &g -

e 9 TG IeE 9 IeTen a5 an & [GEa s o Haw o e @ 8, a9 e s i
SH-=dA1 e fifed qe wefters =9 4 qagd 2| sifuenivm e i e A, w2t st as e
o A0 Ik #M] A S 2 U 3 309 TR H R -EE 92 A

= FeqTee ol forpr @ |eRd 2 Tk 3Rl geEl W g a0 3= g S aranl | @
HIFT A R AW I W IR A atad S 9ge B ate] sae it 1 aee % fow g faemsa
| HASH A9 3 G & g6 0 9 6 sy 2 s mem 1§ s a0 s e ama 2 osik
feput wieprt siferee] fea s o weh-gil § oS A A SIME -] % o Ud A T AT 3| A
SR Hiaq0 & #4179 291 Wk, Hie 09 52 gt -smm w6 s sifas welt g 2, e
WIWWWMW-MWﬁ.qﬁlﬂﬁlﬁﬁﬂﬁlaﬂl%ﬁﬁﬁmmﬂmﬁlm
IArges w2 o sy T o fagvh s @ sifaes wres sifadifua 1 et 2 ) st sear - e
I gl W fashd @ Al Hebd A| qimEReR 9 ofd ol H 9fg @ g B, g9gd] del H%d 2 3
st Fraril & Fenfa w2 mea ) e (), mn@aaﬁnﬁwmf&aﬁﬁaﬁmaﬁmm
Hifga o & AW siEd 3W R HaE 99T 9= 2 O8 f owmma O i 8 smgfd O s sl 2 s gw
yel qe4 H gfg 7l A1 SR SEIE] H TEE 3e9iehl w1 AEEE) (o 21w & s ueE
WA FifEE e % TR W 9l 2) IeaEdl 0 ey (e 2 aen e ) wem § w2l 2
ST STl ATl SiREAIS 61 qA-LTga e 2| S99 99T, 3 9= 1 94N FH H el 8, dl
HEEU <k HWU HEE ¥ A gEN G

The passage has focussed on
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The need for quotas
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[Option ID = 3817]
The advantages of trade barriers for foreign suppliers

fargufi smyfiferais < fem smam sErsn & & @
[Option ID = 3818]

The benefits of trade barriers to conzumers.
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[Option ID = 3819]
4. The merits and demerits of trade barriers.
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